I. Constitutionalism and Judicial Review

A. Establishment of the Power of Judicial Review

1. Marbury v. Madison (22)
a. Facts: SC interpreting Judiciary Act of 1789 which gives SC power to issue writ of mandamus, Marbury is asking ct to issue writ which would make Madison deliver Marbury’s appointment

b. HOLDING
i.  SC doesn’t have Const authority to issue writ of mandamus

ii.  Judiciary Act unconst b/c gives SC original juris that Const doesn’t

(a) Not an obvious conflict b/tw Judiciary Act and Art 3 § 2 of Const → could read Const to say that it is up to C to switch some cases from appellate to original juris

(b) C doesn’t have to establish any inferior cts → so theoretically SC could have original juris in all cases

(c) Judiciary Act expands power of cts → Art 3 could set floor on what is power of cts, Marshall interprets Art 3 as ceiling not floor

c. SIGNIFICANCE

i. Creates judicial review → “It is emphatically the province and duty of the judiciary to say what the law is.”

ii. Marshall doesn’t care about the statute → he wants to declare power of Judicial review (JR) 
iii. He is giving up some power (that granted by Judiciary Act), in order to grab much larger power of JR

2. Power of Judicial Review
a. Nothing in the Const about JR →  Marshall’s argument about why it’s easy to assume that cts have power of JR

i. Judges take an oath to uphold Const and oath doesn’t mean anything if jud can’t hold C accountable when it violates Const → bad argument

ii. Supremacy clause argument → Const should be supreme law of the land

iii. Broader understanding of how gov’t has to work if going to have a Const

(a) No point in Const if it can’t be enforced

(b) Const intended to restrain both C and P →  If C were to interpret its Const limitations then Const meaningless 

b. Why do people comply with law? 
i. Economic explanation → Threat of enforcement necessary
(a) People will only comply with law if it is in their economic self-interest
ii. Philosophical/normative explanation → People comply with law b/c they respect it
(a) Law is just →substantive respect; OR

(b) Law came out of a just process → Law is legitimate → respect for the process
iii. Hybrid explanation (the right one)

(a) Most of US Const has never had to be enforced so at least part of citizenry’s compliance has to be explained by through normative compliance  → Why Cali has never protested that Wyoming has disproportionate political power b/c gets same amt of senators 

(b) BUT Cali has long-term self-interest in complying with Const (even if on some things against their short-term self-interest to not protest Wyoming’s disproportionate political power)

(1) Prisoners dilemma argument 

(2) Better in the long-term for Cali if all the states abide by Const

(c) Take-home point: Const is meaningful w/out enforcement, so this undercuts Marshall’s rationale for why cts should have the power of JR 
(1) Plus cts can’t really enforce the law the way they interpret it 

c. If Const meaningful w/out enforcement → Inherent tension b/c want Const to be a restraint on C power so need to not give them power of review BUT don’t want un-elected, insulated judges to make policy judgments, so why should cts get the power of Const review?
 i. Pros to giving power to cts

(a) JR is potent power, so should give it to cts b/c they are the lest powerful branch of gov’t (b/c they have no real mechanism for enforcement) therefore are able to do the least amt of damage with JR

(b) Cts don’t have same political pressure as C (b/c aren’t elected and hold for life) so might be able to read Const more neutrally than C

(c) Even if cts do abuse power, C can check their abuse through

(1) Amending Const

(2) Strip juris

 ii. Con to giving power to cts

(a) Checks that C has on cts abusing power difficult to use and C (and people) have to live w/what judges do
(b) When judges do act abusively it sticks in a way that it wouldn’t if leg had acted abusively b/c leg is able to be vote out of office while jud is permanent appointment

(1) When cts make a policy judgment under guise of Const interpretation then that policy judgment becomes more entrenched than if C had acted (??)
(2)
d. Concept of JR wasn’t that controversial when Marbury decided, but why?

i. GB has parliamentary supremacy (Parliament decides what Const means) 

ii. JR very uncommon at the time

iii. Kramer argument → Framers had conception of JR, but very different from what it has turned into

(a) Get JR only when there is clear Const violation 

(b) Hamilton in Fed # 78, saying that if fed gov’t (C) does anything that infringes on states rights too much, SC can invalidate

(c) JR is more akin to mobbing (civil disobedience)

iv. Cts straight from the bat abused their power of JR (in Marbury there was no clear Const violation)
B. Theory of Judicial Review
1. Ascending scale of democratic legitimacy

a. Most legit law comes from the People 

i. People = whoever wrote and ratified the Const

b. Legislature 

i. Leg = elected officials (Prez, C, state legs) = people
c. Courts

i. Least legit b/c judges not elected

ii. When cts engage in JR are trumping people for People through interpretation of Const
(a) Only entity allowed to trump leg is People acting through Const as interpreted by cts

iii. Legitimacy problems with this hierarchy

(a) Counter-majoritarian problem:
(1) Relationship b/tw SC and the People → how can we be sure that SC is channeling People when trump people (leg) as opposed to replacing prefs of people with their own

(b) Constitutionalism: Relationship b/tw People and people → why do People get priority over people

2. Constitutionalism
a. How do you interpret what the People wanted? Originalist v. Moral Reading 
i. Originalist 

(a) Hamilton/Marshall theory on why JR ok → Will v. Judgment
(1) Judgment

· SC is passive receptacle for decisions made by People (court like a medium in a séance)

· JR is legit b/c is cts making judgment (on what People want??)

(2) Will

· Not interpreting what People want, replacing people’s prefs with Cts own

· Illegit b/c unelected body imposing their own policy prefs 

(b) Mechanical interpretation

(1) In order for JR to be legit ct has to do some sort of mechanical interpretation →  Judge has to say People or people struck down statute not jud

(2) Problem is that const interpretation doesn’t seem to be mechanical in the way that it should be
· Const interpretation extends from open, abstract language that is impossible to interpret mechanically

· Can’t interpret 1A mechanically to answer if C allowed to pass campaign finance regs → lang just doesn’t answer the question

(3) There has to be some will involved in judges interpretation → Marbury

(c) Originalists today: Idea that can supplement words in text with some understanding of their historical context in order to reduce the range on reasonable interpretation so that the interpretation looks more mechanical

(1) Look at history, historical context of the words used in the Const (original understanding of these words) → how the people who wrote the Const understood these terms

(2) To figure out understanding of People have to understand the purpose they were pursuing in using the specific words they did

(3) Example: Art II → P has to be “natural born citizen:, what does that mean?

· Many possible interpretations of this phrase

· Originalists would say that have to have sense of what founding fathers were getting at → loyalty to US, they thought that being born in US was a good proxy for loyalty

(4) Framers passed conceptions → substance already there

(d) Pros

(1) Consistency → DP, people know what to expect

(e) Cons

(1) Not really consistent b/c conflicts about historical interpretation

(2) Irrelevance

· Most of the Const wouldn’t apply to us

(3) Dead Hand Constitutionalism 

· Legitimacy of being bound by policy judgments of People

ii. Dworkinian/ Moral reading

(a) Framers weren’t enacting specific set of policy judgments in Const, were enacting moral principles → i.e. equality

(b) Moral principles don’t have set meaning, up to current interpreters (SC) to give substantive quality to what these moral principles mean today

(c) Framers passed concepts → substance needs to be filled in

(d) Pros of this interpretation

(1) If restrict Const to originalist interpretation a lot of the Const would become useless and the country couldn’t move forward (i.e. no Brown)

(2) Dead Hand Constitutionalism no good → why should People trump people

(3) There are constraints to this interpretation that stymie counter-majoritarian effect

· Historical practice → if a moral concept (i.e. welfare) isn’t in the Const, it isn’t in there

· Integrity → Const interpretation has to be made internally consistent → precedent

(e)  Cons

(1) Counter-majoritarian: Why should unelected judges get to fill in content of moral principles as to what people today want to do → leg should be doing it

iii. Take home point: 2 competing views on what exactly Const is

(a) Ordinary law passed 200 years ago that resolved political disputes that has remained in effect → old statute basically

(b) Gen statement of moral/foundational principles of our democracy that we have to fill in for ourselves

b. Why should People bind people?
i. Const is profound in a way that ordinary statute is not

(a) Ackerman → Const written in spirit of deliberative democracy which is a qualitatively different from “normal” politics

(1) 2 other times when had this deliberative qualitatively different type of politics → New Deal and Reconstruction 

(2) Counterargument

· No real difference b/tw Const politics and ordinary politics → leg today that engages in “ordinary” politics passes the Americans with Disabilities Act at the same time as pork barrel legislation, Const politics had aspects of normal politics → 3/5 compromise, so not all of Const politics deliberative democracy

(b) Const had a supermajority

(1) Counterargument

· Gov’t as it is today creates supermajority requirement b/c of veto power w/in various branches of gov’t

(2) Counterargument to counterargument

· Only had a Const amendment 27 times → it is much harder to get supermajority nec for Const amendment than to overcome veto power

(c) Counterargument

(1) Const convention was not really everyone in country coming together → only very select group of white, male, landowning indiv could even participate

(2) Value judgments of Founders shouldn’t govern us today b/c there conception of what Const needed to be was dependent on socioeconomic factors that are totally different than the socioeconomic factors we deal with today

· Transportation, communication, economy all fundamentally different

· Ideas about race, gender have changed fundamentally as well → genetic differences to socially imposed inequalities that contribute to “fundamental” differences

ii. People were simply people at a different slice in time → so Const is people making a pre-commitment, so People not interfering with people’s right to self-govern, it was people at time 1 binding people at time 2

(a) Pro: Pre-commitment good b/c actually enhancing overall autonomy

(1) Never would have got K at time 1 (Const) if had not been willing to pre-commit

(2) Ulysses binding himself to the mast → go to hear sirens and not kill everyone

(b) Pro: Benefits of being able to pre-commit are better than temporary costs of not being able to do what people want at time 2

(1) This argument depends on the assumption that peacetime demo is more reflective and democratic than wartime demo
· In peacetime we make commitment to civil liberties and have to pre-commit ourselves b/c know in wartime that are going to want to violate civil liberties

(2) Problem with this argument is that it is oversimplified to say that peacetime demo is more reflective → could argue that during peacetime are more complacent and indifferent while during wartime are more focused

(c) Con: Pre-commitment depends on notion of political community that exists over time

(1) This argument doesn’t hold much water b/c then American today would be held responsible for slavery

(2) Is really just a paternalistic argument that people shouldn’t be able to hurt themselves when they lose their cool, should be bound by ideas that were once committed to which are somehow more noble than the ones they have today

(3) This argument further undermined by the fact that there is no such thing as one self that stays constant over time, as indiv we have beliefs and values that are constantly changing, so to say that political community can remain constant is BS

(d) Con: Pre-commitment is indeterminate (b/c lang of Const) and therefore pre-commitment enforcement impossible 

(1) Const is really just giving trustees (SC through JR) right to decide whether decision at time 1 or time 2 is better

(2) Are inviting enforcer of pre-commitment (JR) to define commitment through their value judgments and legitimate their value judgments through invoking authority of People

(e) Take home point: In order for pre-commitment to work need to be a single political community that exists over time (which is impossible) and the content of the pre-commitment must be determinate (substance of Const not determinate and process of Const not entirely deliberative demo) and not just delegated decision-making authority to some external enforcer (SC)
3. Counter-majoritarian problem
a. Leg elected and judges aren’t so cts shouldn’t be overturning policy judgments of leg, Hamilton/Marshall try to justify JR on grounds that it is mechanical interpretation, which is pretty much impossible and even if JR could be mechanical interpretation of Const have problems of pre-commitment
b. Counterargument: Counter-majoritarian argument against JR assumes that leg decision-making is democratic and JR is non-dem
i. Leg not a good translator of what people want

(a) IG’s control leg → leg votes in their own self-interest

(b) No guarantee that leg actually reflect interests of their constituents → elites run gov’t

ii. Condorcet paradox: Majority rule isn’t that democratic b/c majority rule is really unstable

(a) Maj voting leads to arbitrary result b/c if had done voting in different order would get different result 

(1) whoever sets agenda wins

(2) Maj rule doesn’t tell you what maj prefers b/c there is no answer

(b) Letting judges decide political decisions is about the same as letting leg decide b/c both elites and not that responsive (at least no more arbitrary than maj rule)

(1) Leg has political controls over cts that keep judges in line with people’s prefs
· Const amend, controlling budget/size of cts, impeachment, juris, doing away with lower cts

(2) Just b/c these controls have not been used doesn’t mean they aren’t effective, the fact that judges know they are there could be explanation for why judges have rarely gone outside of the median policy prefs of the country

iii. Cts are NOT politically out of touch

(a) Senators/Prez have to confirm → their views could not be too far out of the middle of the road or else they wouldn’t get confirmed

c. Dworkin response to counter-majoritarian problem: Democracy ≠ Majoritarian rule, system that involves JR might be more dem on whole than system that doesn’t involve JR

i. Madison → Federalist 10, Republic v. Democracy 
(a) C will be able to discern the true interest of the country and not sacrifice best interest of country to faction (p.10) → C has 3 ways to do this

(1) Interpret political will of majority into policy

(2) Refine and discern political will that is best for the country → deliberative demo

(3) Maj prefs could differ from what is best for public good → job of C is to counteract factional spirit and insulate themselves and country from it

(b) Powerful fed gov’t acts as insulation from mob pressure (IG’s today?)

(1) State gov’t as mercy of popular majorities

(2) Larger the country, the more competing interests and these clashing interests will counteract so no one can gain control for a long period of time

(c) Institutional means that founders put into C election → wanted to give the people who make gov’t decisions some insulation from popular pressures

ii. If ideal is deliberative body insulated from political pressure, then cts could serve the protective function toward C that C was originally intended to serve towards states
(a) SC is best place for civil republicanism today

(b) Counterargument: SC not engaging in deliberative demo are just implementing their own policy prefs and as they are not elected, there is no accountability (can’t be voted out of office) and less demo than C implementing policy prefs
(c) Take home point: Need to ask in which institution (C or SC) do you get the most deliberation about public good (i.e. procedural and substantive demo + leg/judges putting aside their own selfish policy prefs) → no obvious answer about which one is best

(1) C: Ctee system (agenda) w/bargaining and testimony

· Potential for IG/faction influence

(2) SC: Adversary system → 2 parties making arguments and justices making big philosophical decision

· Potential for Judicial lawmaking

iii. Demo can be in contradiction to majoritarianism 

(a) 51% of people getting their way 100% of the time not democratic

(1) Creates bias in favor of status quo

(2) Minority coercion

(b) Dworkin says that pre-condition to demo is treating minority and individuals with respect and equal concern (have to let minority win sometimes) → Coercion under maj rule OK under certain conditions
(1) Min has to be treated fairly
· The only way that it is dem to bind min to maj decision is if min/maj are the same people → if the same min keeps getting screwed than they aren’t the same people

(2) SC has responsibility to protect min from maj exploitation and does so further demo

· Problem with this is that it looks like SC is making value judgment about which minorities are worthy or protection

d. Need conceptual distinction b/tw procedural and substantive democracy

i. Procedural democracy = Majority vote, but procedural democracy could be in violation of substantive democracy (Hitler)

ii. Role of SC is to protect substantive democracy from procedural democracy

(a) When SC strikes down what C did they are acting counter-majoritarian but they aren’t necessarily acting undemocratic, they could be protecting substantive dem

(1) Problem: Have to figure out what counts as serious enough blow to sub democracy to waive procedural demo 

· All procedural democracy could be in violation of substantive democracy

(2) Judicial decision-making just creates another set of problems for democracy b/c judges making a law is procedurally undemocratic while a substantively unfair law passed through procedural democracy is actually also undemocratic

(b) How do we decide which is better, procedural or substantive democracy?

(1) Boils down to prediction of results → do we think JR (enforcing substantive demo) is going to lead to better results in the long term than just going with procedural demo 100% of the time and substantive demo some lower % of the time
· Depends on what the lower % is??
(2) Dworkin says that choice going to turn on practical results b/c there are good arguments on both sides, US is historical experiment for JR

· Problem with this is it depends on impossible counter-factual of what would have happened over the course of US history had there been no JR

· Could compare with country most like us w/no JR → GB w/parliamentary supremacy

(3) Take-home point: Does it seem that institution of JR is good/bad idea?

· I would think that it actually doesn’t matter, like Klarman article about EP → judges got there first, but doesn’t mean that if there was no JR that C wouldn’t have done it, probably sometimes have done slower, but sometimes have done quicker, having JR just lets C punt to SC allowing them to escape accountability for decisions they probably would have had to make eventually in the long-term, so it might be that JR actually leads to less procedural accountability but strengthens substantive unfairness b/c cts are willing to make unpopular decisions before C even if only nominally before
C. McCulloch: Introduction to Sources and Structure of Constitutional Law
a. Does C have power to create bank?

i. C can only do what Const empowers it to do in → C has limited powers

(a) Art 1 Sec 8: For C to legislate it has to do so tied to one if its enumerated powers

(b) 10A: Powers not delegated to C are reserved for states → state is default option

(c) Supremacy clause Art 6 → Fed law trumps state law if the two are contradictory

ii. 2 step process to evaluate Constitutionality of federal law

(a) Does Const give C power to pass law like this → is it tied to one of enumerated powers

(b) If C does have the power, does it violate one of the indiv rights (DP, 1A, etc.)

(c) Question about whether this 2-step analysis was necessary

(1) YES → There are plenty of things that C has power to do but that violate indiv rights

· i.e. C can prohibit interstate shipment of anything, but can’t when newspapers are involved b/c 1A

(2) NO → If C was acting beyond its power than by definition it was in violation of indiv rights, in violation of 10A? 

· Is 10A an indiv right?

iii. Evaluating constitutionality of state law

(a) Assume state has power (b/c of 10A) and ask whether it violates indep right (1A)

(b) Supremacy clause hitch → if state law conflicts with fed law than state law out

(c) Art 1, Sec. 10 → there are a few things that states can’t do

iv. Applying to McCulloch

(a) Chartering a bank isn’t one of explicitly enumerated powers that C has but Marshall uses necessary and proper clause (n&p) to get it in, but still has to be n&p to one of enumerated powers

(1) C has power to tax, borrow $, regulate commerce, conduct war 

· Bank is arguably n&p to accomplish these enumerated powers

(2) n&p interpreted as super-sizing enumerated powers

(b) Const debate centers around how to interpret “necessary”

(1) Strictly → indispensable → in which case US loses

(2) Necessary means something more like convenient and useful

· Broad reading, giving fed gov’t way more power

(3) Marshall interprets broadly with 2 caveats

· C can’t use n&p to violate indep rights

· C can’t use n&p as pretext for something it’s not allowed to do

· Genius of opinion is that he uses a moral reading of the Const couched in mechanical interpretation, meaning that you have interpret Const differently than you would interpret a normal statute (Dworkin’s moral reading)
b. Does MD have power to tax bank?

i. YES b/c of supremacy clause argument → power to tax is power to destroy, so if C has power to create bank which it does than that trumps any state leg that would destroy the Bank (the tax)

ii. Marshall rejects the symmetry argument (that if MD can’t tax US Bank than US can’t tax MD banks)

(a) MD has representation in US C, US doesn’t have representation in MD leg → no taxation w/out representation

(1) This is analogous to argument that Madison used in Fed 10 in arguing that JR okay b/c majority rule not always consistent with federal democracy

(2) Sometimes we need to protect sub dem (taxation only w/representation) at expense of procedural democracy (state leg vote)

c. Broader implications

i. Scope of nat’l power and C power → slavery lurking in the background

(a) If C has power to create Fed Bank and it is supreme over states banks, then fed law on slavery could pre-empt state slavery law and slavery could be gone

ii. Jackson vetoed 2nd charter of Bank b/c he believed it was unConst

(a) Const interpretation could take place outside of SC

(b) Once SC made Const determination still open to other political actors to make their own indep political/Const interpretation and to use their power to implement their interpretation

II. Congressional Powers and Federalism

A. Theory of Federalism

1. Federalism

a. Nat’l gov’t and state gov’t share power
b. Const enumerates limited powers for nat’l gov’t, so only when nat’l power runs out do the states powers step in → the power the states do have is dependent on where nat’l power runs out

2. Benefits of federalism?

a. Maximize the satisfaction of policy preferences 
i. Can make more of the people happy more of the time through states than through single nat’l rule b/c there are so many different policy prefs 
ii. People can sort themselves to juris that is most aligned with their preferences

iii. With states the most amt of people can become involved → inc demo

b. Decrease externalities
i. The closer gov’t is to the effects of policy decisions, the more it understands the CBA of its decision and the more responsive it will be to what constituents want

ii. Need a policy maker to internalize the full effect of their decisions 
iii. States seen as protectors of indiv rights from an oppressive nat’l gov’t

c. Social-experiment
i. States can try different policies out to see which one works the best

ii. In practice this doesn’t work b/c of the central free-rider problem → each state will wait for another state to bear the risk of trying out the policy

d. Economies of scale
i. There are some things that involve intrastate aspects that nat’l gov’t more efficient at → i.e. postal service, RR
ii. Nat’l gov’t lowers cost of obtaining cooperation from all states b/c it has authority to override

e. Enhance/Protect public good (Efficient for nat’l gov’t to do some things)
i. Public goods are

(a) Non-excludable: Anyone can enjoy the benefit whether or not they paid for it; AND

(b) Non-rivalrous: Any # of people can use w/out depleting resource

(c) Ex: Lighthouse, nat’l defense

ii. Markets aren’t good at providing public goods → no one state wants to pay for, all the states have incentive to do nothing and wait for another state to create public good and then mooch

3. Preference sorting through juris competition increases overall efficiency

a. Pros

i. If mobility were costless, everyone would sort into ideal juris and there would be no minorities

ii. In theory states would compete to maximize laws

b. Why this argument doesn’t work

i. Moral/Social externalities

(a) Not every set of preferences compatible, some are totally incompatible → ex. Polygamy

(b) Children → stuck in sheltered world, we think at some level kids have to be exposed

ii. Theoretical argument about juris competition doesn’t work, because states not always concerned foremost with efficiency → states don’t really compete for corporations or to maximize their population or tax base → states don’t behave like rational actors
iii. Wealth transfers and redistribution

(a) Juris sorting can create a prisoner’s dilemma problem → 2 outcomes

(1) End of with one juris all poor and the other all rich so there is no longer an opportunity for redistribution; OR

(2) Race to bottom and end up with no redistribution

(b) For redistribution to work have to do it at highest level (federal) where states can’t opt out  (prevents white flight) OR do it at state level with federal standards (prevent race to the bottom) → we want some sort of redistribution becomes it offends our moral sensibilities to have poor dying in street of hunger??

(c) Levinson thinks that a lot of the debate over the pros/cons of federalism centers around wealth redistribution, those that are in favor of it tend to support federalism (which ensures some basic level) and those that opposed would rather have juris sorting b/c don’t care if there is no redistribution ??

iv. Revesz article: Race to bottom not nec going to happen b/c

(a) States don’t care solely about maximizing efficiency → know race to bottom coming so going to act to prevent it

(1) No state is going to drop env standards so low that the costs that pollution generate outweigh the econ benefits the corporation brings → things like env law there is a natural floor b/c of the externalities caused by factories/pollution, etc.

(2) This argument doesn’t fly with wealth redistribution b/c not the same sort of externalities as with env

(b) Transaction costs: Mobility isn’t costless

(c) Multi-dimensional competition b/tw states: If 1 state has high env regs, gives more tax breaks to corps

(d) Take-home point: One of the reasons we were supposed to have federalist system was to prevent race to the bottoms, but that isn’t nec going to happen in absence of fed control

4. How to enforce federalism

a. Political safeguards of federalism

i. Don’t need JR of federalism b/c structural arrangements b/tw branches created in Const

(a) i.e. State legs elect Senators

(1) Although this was overturned, Kramer argument about how local political parties exert enough influence over nat’l politics to serve as same function

(2) States maintain influence on federal policies

(b) Federalism is self-enforcing → SC doesn’t need to step in b/c fed gov’t never going to get too much power
ii. Problems with this argument

(a) Constituents don’t care about who makes policy decisions (state or fed) only care about results

(b) If selfish interest of state legs to get reelected is stronger than selfish interest in maintaining state sovereignty than this argument isn’t going to work

(c) Nat’l officials aren’t hardwired to expand fed power

iii. If no JR of federalism, what would equilibrium b/tw fed and state look like

(a) Random mix of power resulting from political pressures that existed on state and national political agendas

(b) In ideal world, nat’l gov’t do what it is most efficient at and states do what they were most efficient at BUT

(c) Politics doesn’t nec create efficient outcomes

b. In ideal world the ideal world for the SC in enforcing Const federalism would be to enforce federalism as it was meant to be, with states doing what they were most efficient at and nat’l gov’t doing what it was most efficient as

i. If C passed a law where states were more qualified (something where nat’l rep couldn’t fully internalize externalities)

ii. If states pass laws that would lead to race to bottom or externalities on other states
iii. What SC has actually done in enforcing fed is to limit C power through commerce clause
B. Commerce Clause I: History through the New Deal

1. Gibbons v. Ogden (143) (1824)

a. Marshall gets to interpret C’s power under commerce clause, he interprets it broadly to include navigation and trump a state licensing law

b. Dicta that intrastate transactions that have an effect on interstate commerce are w/in C’s power to regulate

c. There are limitations 

i. Internal limits: Clause might define a specific subject matter 

(a) what exactly constitutes “commerce”
(b) “among the several states” → so something purely internal like cargo inspection not in reach of c

(c) “regulate”

ii. External limits: Other provisions of Const, like 1A may bar C from regulating commerce of certain things, i.e. newspapers

d. As externalities of growing economy increase, C needs to become more involved and this gives them the power to do so

2. Doctrinal structure going into ND

a. Stream of commerce: If regs directed at the stream of commerce than C can almost definitely regulate→ i.e. interstate 
b. Direct/indirect effects: If outside of stream of commerce, C can still regulate if thing being regulated has direct effects of interstate commerce 

i. Intrastate regs/industries can have direct effects of interstate commerce

ii. SC gets here with nec and prop clause??
c. Criticisms of this doctrine → based on Formalism

i. Ordinary formalism: every legal rule going to be formalistic in some sense b/c will always be both over/under inclusive

ii. Meaningless formalism: No intelligible purpose behind the stream of commerce or direct/indirect tests

3.  Cases
a. US v. E.C. Knight (161) (1895)
i. Only way to get at regulation of monopoly is at fed level (b/c economies of scale?), Justice goes after Sugar monopoly under Sherman Act

ii. SC doesn’t allow b/c manufacturing before the stream of commerce → C can’t regulate

b. Swift (1905) (164)

i. Gov’t is applying Sherman Act to bust up a price fixing arrangement by meat dealers

ii. Stockyards are treated as w/in stream of commerce b/c cows shipped on RR get off, get bid on and get back on → is this compatible with Knight?

c. Stafford v. Wallace (1922) (163)
i. C passes leg saying that Sec of Commerce could regulate rates and standards for operation of stockyards

ii. Ct okays b/c “transactions (at stockyard) can not be separated from the movement to which they contribute”

d. Shreveport Rate Cases (1914)(162)
i. ICC trying to regulate intrastate RR rates previously set by Texas RR commission

ii. SC upholds the authority of the ICC to regularize rates even though target of rate was intrastate b/c RR are instrumentality of commerce → have direct effects on commerce

e. Coronado Coal (1925) (163)

i. C is trying to bust union strike of coal miners

ii. SC allows b/c is interfering with mining of coal

iii. Compare with Knight
(a) Inconsistency: coal mining seems to take place at same temporal point in manufacturing that sugar manufacturing does, but SC allows

(b) Reconcile: Coal strike has direct intent to interfere with interstate commerce (that is the whole point of the strike), sugar monopoly has an indirect intent to interfere with interstate commerce (the point of the monopoly isn’t to interfere with commerce, but to make $)

f. Champion v. Ames (1903) (164) v. Hammer v. Dagonheart (1918) (147)

i. Champion

(a) SC upholds statute prohibiting interstate shipment of lottery tickets

(b) C can leg as long as targeting their shipment in interstate commerce, not their actual manufacturing → stream of commerce

(c) Dissent → C using interstate commerce as pretext to regulate something they see as a moral evil

ii. Hammer

(a) SC strikes down Child Labor Act as being beyond C power b/c it happens at point of manufacture

(b) C uses juris hook of interstate commerce, but SC still doesn’t allow

(c) No real way to reconcile this case with the others

4. Broader Const context → the way to understand these cases
a. Interpretations of Con law

i. Politics by other means → judges are simply applying their political prefs; OR

(a) If think this way about Con law then not going to like JR

ii. Con law is law: Vague at the margins and judges viewpoints do color how they interpret law in the grey zone

(a) Lots of cases when they reach the same point no matter their political prefs

(b) When in grey area, judges try to use the text → JR is legit

b. SC is trying to create doctrine of what judges can and cannot regulate under cc

i. Every single activity effects interstate economy to some degree (esp as econ grows), so theoretically everything could be under power of C to regulate but have federalism driven conception of C having limited enumerated powers of what they can leg, with the rest of the powers going to states 

ii. Need to draw the line somewhere (3 options of how to handle)

(a) Admit that every line is arbitrary and refuse to draw one → JR is not legit, no need for SC

(b) Draw line that will inevitably be arbitrary and everyone just lives with it 
(1) This is what SC has done and then tried to cover the arbitrariness with legal fictions about mech interpretation 
(2) Result driven

(c) Don’t make distinction on arbitrary lines, but on functional lines → what they should have done

(1) Goes back to what ideal conception of JR → giving fed what fed is good at and states what they are good with
(2) They didn’t do this b/c externalities and race to the bottom are conceptions that you really can’t get out of the language of the Const

· Would be admitting that mech interpretation of Const isn’t possible and that judges are just deciding how federalism best works

· Not doctrinally allowed
5. Roosevelt and ND

a. 1st 100 Days
i. Schecter (1935) (167)

(a) NIRA creates codes of fair competition and any violation of code a fed crime b/c of cc juris hook, goals were to stabilize production (labor agreements w/in code) and jack up prices under the theory that if raise prices artificially than bus could afford to pay workers more and if workers paid more would revitalize econ

(b) Hughes applies same doctrinal structure and pre-ND cases and strikes down

(1) Says that outside of current of commerce b/c chickens getting off RR is the end of the stream of commerce (as opposed to Knight where manufacturing deemed to be before stream began)

(2) Gov’t argues that are direct effects b/c prices felt all over the country, SC says this I indirect

(c) Cardozo concurrence

(1) Direct/indirect difference is one of degree not a bright line → proximate cause

(2) Are always going to be some effects on interstate commerce, but have to decide if they are too remote to not trigger C regulation 

(3) This concedes that C can’t regulate everything that has any effect on interstate commerce → effect has to be proximate enough?

ii. Carter v. Carter Coal Co. (1936) (169)

(a) Roosevelt gets C to pass NIRA code on industry by industry basis instead of on a gen basis → 1935 Bituminous Coal Act

(b) SC strikes down on exactly the same logic, Sutherland says that magnitude of effects not important, is whether or not they are direct or indirect, if they are indirect than C can’t regulate

(1) SC doctrine to dealing with cc starting to fracture b/c some justices believe that direct/indirect is real line while others think it is a legal fiction and should be replaced by some sort of proximate cause test

b. 2nd ND

i. NLRB v. Jones & Laughlin Steel (175) (1937)

(a) Same in substance as Coal Act, but different form, law is written by lawyers who are trying to comply with doctrinal structure of cc and instead of making case about the law, make it about the facts by characterizing operations of a steep plant like those w/in a stockyard, evoke current of commerce metaphor

(b) SC upholds 5-4 → SC stops resisting ND, switch from Carter Coal

(1) Manufacturing v. commerce doesn’t matter

(2) Direct v. indirect is question of degree → px cause distinction wins

 ii. Tipaldo v. West Coast Hotel
(a) Both cases involve state laws imposing max hours, min wages for women workers

(b) At same time that SC striking down fed laws regulating econ under cc are striking down state laws regulating econ under DP

iii. Externalist acct of switch
(a) After landslide ’36 Roosevelt win he has huge majority supporting him and his legislation and opposing the SC 

(b) Court-packing plan → Roberts knew that SC would lose independence if plan went through so switched his vote in order to save indep of SC as an institution

iv. Revisionist acct of what happened: These cases do have a doctrinal structure and the differences in outcomes are based on facts
(a) Are facts that aren’t consistent with externalist acct → Roberts continued to vote with liberals and he voted in West Coast Hotel before ct packing plan became public 

(b) Nebbia (1935) → uphold price controls before ’36 landslide election

v. Take-home point: Externalist/revisionist acct important b/c goes back to 2 ways of thinking about con law

(a) Externalist acct views con law as politics by other means, so judges are just taking their political prefs and transferring them into the rhetoric of con law

(b) Revisionist acct takes law more seriously and thinks that judges are actually constrained by const doctrines

(c) Hybrid acct of what happened

(1) Law is sig beyond politics not b/c it decides cases but b/c it has to appear to decide cases in order for ct to maintain legitimacy 

· Doctrine (and maintaining one) is necessary for legitimacy of ct so it can appear to be doing mech interpretation and not just deciding cases based on their political prefs

(2) Once doctrine appears contestable, judges can’t hide behind it → so doctrine is malleable

c. Other ways to deal with econ problems besides nationalization of industry

i. Every form of gov’t has weaknesses, one of federalism is that it is difficult to solve nat’l problems b/c coordinated actions by states is costly, but coordinated action by fed gov’t impinges on state power/values of federalism

ii. Art 1, Sec. 10 prohibits states from entering into agreements w/one another unless C consents

(a) Interstate compacts can be used to alleviate regional difficulties → states make compacts w/one another and C approves, rather than C makes compacts for states and forces it upon them
(b) States not affected by regional compact less likely to tinker with → less pork-barrel??
C. Commerce Clause II: Since the New Deal

a. Wickard v. Filburn (149) (SC 1942) → Aggregate effects on interstate commerce

i. Challenge to Agricultural Adjustment Act, Filburn grows wheat for his own personal consumption, but he grows more wheat than allowed under AAA

ii. SC says that okay to regulate if what they are regulating has a substantial effect on interstate commerce

(a) Direct/indirect doesn’t matter

(b) Substantial effect → can aggregate effects, so the broader the class of people you include the more substantial effect, so no longer a natural boundary for the class of activities being regulated

(c) C can always use aggregate effects to regulate whatever they want

b. Darby (179) (SC 1941)

i. SC upholds Fair Labor Standards Act, overruling Hammer v. Dagonheart and saying that pretext/motive of C doesn’t matter

ii. Take home point: After Darby/Wickard there are 3 ways in which C can regulate that are ok under cc

(a) Wickard: Can regulate intrastate activity as long as the activity has a substantial effect on interstate commerce and can use aggregation to get a substantial effect

(b) Darby indirect

(1) Can regulate wages through juris hook of interstate commerce

(c) Darby direct

(1) Since you can regulate indirectly, can do directly

(2) Harlan’s dissent in Knight

c. 1964 Civil Rights Cases

i. Where does C get power to ban discrimination by private actors?

(a) Const → NO b/c it only applies to state actors

(b) Sec. 5 of 14A (enforcement provision)

(1) Question about whether enforcement power goes farther than 14A 

(2) Bad precedent → 1875 Civil Rights Act struck down

(c) Commerce clause

(1) Discrim affects interstate commerce and use Wickard/Darby 

ii. Heart of Atlanta Motel (183) (1964)

(a) Challenge to CRA that bans discrim in hotels

(b) SC upholds CRA by conceptualizing motels as part of the transportation infrastructure of country

(1) People are treated as goods for purpose of interstate commerce

(2) Are impeding current of commerce

iii. Ollie’s BBQ (Katzenbach v. McClung) (184) (SC 1964)

(a) Challenge by restaurant in Birmingham not near highway and not clear that anyone out-of-state every ate there

(b) SC says okay to regulate b/c

(1) Wickard argument: If blacks can’t eat at Ollies BBQ makes them more reluctant to travel and makes bus more reluctant to move to Alabama → aggregation of actors substantially effects interstate commerce

(2) Darby argument: Restaurant serves food that has moved in interstate commerce

iv. Take-home
(a) Seems to be that in any case where C finds substantial effects on interstate commerce (which it can always do) that SC will uphold the leg → so basically C can regulate whatever they want to

(b) Problem is that under federalism C has to have a limitation on their power

d. Lopez v. United States (186) (SC 1995)

i. After ND fed power expanded into crim law under power of cc 
(a) Finding about how crim activity had substantial effect on economy → Wickard

(b) Juris hook → gun has to travel through interstate commerce (which they all do) → Darby

ii. Challenge to Gun-Free School Zones Act, where C forgot to include cc hook

(a) SC says statute un-Const (1st time since ’37)
(b) Crim law is trad an area of state function, so when C regulating needs to have higher burden

iii. Economic/Commercial v. Non-economic/non-commercial

(a) When C regulating on subject that is non-com, have higher burden to prove interstate commerce effects
(1) Suggests that when regulating non-com activities (like schools) aggregating effects of activity to prove substantial effects on interstate commerce not going to be OK

(2) Must demonstrate substantial effect w/out aggregating effects

(b) Problem is how do you tell the difference b/tw com and non-com activities?

(1) Breyer makes good argument in his dissent that education does have substantial effects on economy

(2) This argument goes back to what does commerce mean?

· Anything can be described to be more/less economic

· What is the test and where is the line?

(c) Breyer’s dissent

(1) No satisfactory line of reasoning distinguishing com and non-com activity

(2) Even if there as an objective distinction it is totally artificial and it’s not clear why com activity is where you should limit C’s power

iv. Federalism explanation → useful time to time for SC to remind C there are limitations

e. Post-Lopez
i. Reno v. Condon (251) (SC 2000)
(a) SC upheld statute that forbids states to sell drivers info to ad agencies

(b) Rehnquist says is com activity b/c states are selling

ii. United States v. Morrison (197) (SC 2000)

(a) C passes Violence Against Women Act which creates civil fed cause of action so victim can recover $

(b) SC strikes down saying gender motivated crim is non-econ activity and can’t aggregate effects to show substantial effect on interstate commerce

(c) Dissent says this is categorical formalism

(1) Even if can somehow show distinction going to create arbitrary results

(2) If C wants to get around can just manipulate arbitrary lines

iii. How to distinguish b/tw econ and non-econ

(a) Statutory interpretation: Interpret statute narrowly in order to avoid potential prob w/cc

(1) Dewey v. Jones
· Fed arson statute, question as to whether it applies to the burning down of a private house, SC says burning down a private home is non-com activity

(2) Solid Waste Agency of Northern Cook County
· Gov’t wants to apply Clean Water Act to prevent Illinois from developing waste disposing site in pond that is habitat to migratory birds

· SC says environment is non-econ activity and C can’t regulate

(b) CC cases

(1) Pierce County

· Statute protecting reports that state agencies compile about auto accidents from discovery during tort suits

· SC says okay for C to protect b/c are regulating highways

f. Take-home point: SC has created to unpalatable alternatives for itself in regulating cc 
i. Draw distinctions which do seem arbitrary if can figure out how to apply in formal manner

(a) This creates same problems as with direct/indirect effects

(b) Distinctions (econ/non-econ) don’t correlate w/ anything we care about 

ii. SC doesn’t regulate cc

(a) This is basically admitting C has no limits on its power and federalism doesn’t matter

(b) Externalist story of why federalism concerns become important again in 90’s

(1) Mistrust of gov’t at nat’l level → Vietnam, Watergate, IG’s

(2) Left becomes committed to participatory demo (which can only happen at local level)

(3) Right doesn’t like nat’l gov’t b/c redistribution of wealth

(4) Loss of ND faith → no good reason to defer to admin agencies

(5) Fragmentation of nat’l consensus → country doesn’t have common set of purposes anymore (no more Cold War) so have less reason to finance nat’l gov’t

(6) Globalization: International power becomes important, local power for local stuff, don’t need super-powerful nat’l gov’t
D. State Sovereignty 

1. 2 ways to limit C power

a. Internal limit → limitation by cc

b. External limit → coming at C in the opposite direction of the cc by carving out spheres of influences that are reserved for the states that C can’t get at

i. Rights instead of powers → C can reg interstate shipment of newspapers but for 1A

2. National League of Cities to Garcia
a. National League of Cities (1976) (233)

i. C is trying to apply Fair Labor Standards Act to state gov’t employees

ii. C has power to reg min wage BUT law is unConst as applied to state/local gov’t employees b/c of 10A

(a) Interpretations of 10A: Power not delegated to fed gov’t by Const are reserved to the states

(1) Stone in Darby → 10A is a truism

(2) Broader meaning in protecting states rights

· Fed can’t impose reg on state gov’t even if fed has free reign to impose same requirements on private sector employees

· C can do anything it wants except for enumerated things that we are going to leave to states

(b) Problem: What does 10A exactly protect?

(1) Traditional state gov’t function?

· In abstract everything was trad state gov’t function

· Sovereign activities: Kind of things that only gov’t does → make laws

(2) Let states reg what we might think states are better at (going back to whole federalism thing) like fam law, marriage, corp law, education 

· If this is the goal then starting out with state employees salaries strange

· Proprietary activities: Activities that gov’t does as market participant → i.e. pay their employees

b. Garcia (234) (SC 1985)

i. Not SC’s job to decide what should be left for states and what is fair game for C
ii. SC says that political safeguards of federalism are all that states get

(a) Political safeguards are the built in institutional controls that states have over fed policy (like drawing districts, political parties, etc.)

(b) This argument seems circular b/c in order to know if political safeguards are enough have to know what is meant by “enough” → so gets back to the question of what should be left to states and what should be given to fed

2. Anti-Commandeering Principle: Fed gov’t not allowed to commandeer state gov’t

a. New York v. United States (237) (SC 1992) 

i. Facts: States have collective action problem in dealing with the problem of radioactive waste b/c every state is hoping that some other state will create dumps and they can ship their waste there, so states get together and come up with scheme to provide for adequate waste disposal, Art. 10 Sec. 10 requires that when states have compact, C has to ratify (if C didn’t intervene have dormant cc prob)

ii. States come up with 3 prong program to build radioactive sites

(a) Set up financial incentives to create sites, state w/out sites are taxed w/promise to get a refund in they build cites → SC Okays

(b) Allow states w/waste disposal sites to deny access to states that don’t have sites of their own → OK

(c) Take title provision: If states don’t have adequate waste disposal capacity they will be declared to have taken title to all the radioactive waste in the state, the state gov’t will be legal owner of all the waste and then are liable for all legal claims arising out of → UnConst

iii. Take-title provision unConst b/c it is compelling states to enact leg → 10A violation
(a) Differences w/ Nat’l League and Garcia

(1) Not a generally applicable statute → applies only to states not to everyone

(2) Requires states to legislate (exercise their sovereign power) either to take title (have to legislate by changing their prop law) or leg to build sites

(b) Why do the differences matter?

(1) Fed gov’t requiring states to exercise their sovereign power, but the content is determined by fed → so telling states they have to legislate x

(2) Nat’l League → proprietary function

b. Reno (251)

i. Why is this not commandeering?

(a) C orders states not to sell info → looks like commandeering b/c states are singled out

(b) States are the one doing the affirmative act by disclosing, but SC is not forcing them to do anything, just forcing them to not do something

(c) Proprietary function → state is acting as market participant, is not making leg

c. Printz (248) (1997)

i. Does anti-commandeering principle apply to state executives as well as to leg?

(a) Brady act requires state sheriff’s to perform background checks, so C is trying to get state officials to execute in a specific way that they legislate and SC says you can’t do it

d. Take-home point
i. Anti-commandeering principle forces C to uses carrots instead of sticks to get states to do something
(a) Financial incentives OK

(b) Threaten preemption or actually preempt laws

3. Preemption

a. States are forced not to regulate rather than forced to regulate what C wants → C accomplished the same thing, by replacing states policy prefs w/their own

b. Why make the distinction b/tw anti-commandeering and preemption

i. Resources → ?

ii. Accountability

4. Take-home point: CC, state sovereignty, commandeering doctrine all an attempt to give states power but are easily maneuvered around, the doctrines are flexible and could be expanded or have loopholes closed if SC wanted to return more power to states
E. Dormant Commerce Clause

1. Line of cases where by negative implication of C’s commerce power states can’t regulate

a. Even if C doesn’t regulate, states cannot regulate

b. This is the only area where C can overrule a SC decision about a Const issue → C can pass statute saying it is okay for states to reg what SC has told them that C has exclusive power to reg

i. SC is viewing C silence as prohibitive action

ii. Problem → although C may think that it doesn’t have exclusive authority it might not have time/incentive to get at whatever SC has says that states can’t do → no regulation at all when maybe there should be some

c. These cases basically deal with challenges to statutes that are viewed as state protectionism

i. State protectionism is caused by a political process failure which in turn causes an economic inefficiency 

(a) Protectionism is economically inefficient

(1) BUT there are lots of inefficient laws that do not violate dcc

(2) Explanation for this line of cases has to be something else → POLITICAL PROCESS FAILURE

(b) Political process failure is that in statute that is protecting in-staters at the cost of out-of-staters, the out-of-staters have no representation in the leg

ii. Political process failures are easier to regulate than other inefficient econ programs and we ban them b/c the costs of finding them and striking them down gives excess benefits

2. Doctrinal development

a. Doctrinal tests for dcc and cc developed parallel
i. SC thinks it can create non-overlapping spheres → what states can do and what fed can do

ii. Doesn’t work b/c after ND fed gov’t can do everything

iii. DCC cases persevere after ND as cc cases don’t really (until Lopez)

iv. Ended up with overlapping spheres where if fed gov’t makes leg then it preempts state leg and if fed doesn’t than states can leg except for small sphere governed by dcc where states can’t leg

b. Paradigm dcc case is a protective tariff state imposes on out-of-staters → why have dcc doctrine?
i. Econ effects
(a) Out-of-state producers subject to tariff lose b/c profits go down

(b) In-state producers win b/c de facto subsidy improves their profits

(c) In-state consumers lose b/c potentially have to buy higher-cost, lower-quality goods

ii. Political process failure
(a) There are in-state losers whose interests are aligned with out-of-state producers, but consumers suffer from a collective action problem that in-state producers don’t

(b) Problem of negative externalities: States have political incentives to inflict costs on out-of-staters and this reg is disproportionately likely to be inefficient b/c some costs (to out-of-state producers) not being internalized by leg

iii. National unity:  Protectionist leg doesn’t take seriously the idea that states are partners acting in a nat’l enterprise

c Problem is trying to figure out when a law is protectionist and cts should strike down
i. Cts say they look at econ effects of the law and do a sort of CBA (costs to out-of-state producers justified by benefits to in-state producers)

ii. Huge problem is that cts suck at doing CBA esp when something as complicated as econ effects

d. Cases
i. City of Philadelphia v. New Jersey (268) (SC 1978)

(a) SC strikes down law forbidding importation of out-of-state waste

(b) No way that SC can do accurate CBA of costs of landfills b/c of multiple variables of environment, economy, etc.

ii. Commonwealth of Edison v. Montana (322) (SC 1981)

(a) Montana is imposing severance tax on coal mined in Montana

(b) Argument that there is a monopoly power on Montana coal, so leg imposes tax that looks like it is falling on in-state  but mostly falls on out-of-state

(c) In order to decide if this argument is valid ct would have to have equivalent of anti-trust trial

e. Purpose

i. Even if cts could do fully accurate CBA, cts don’t think that dcc should prohibit states from passing any law where out-of-state econ costs outweigh in-state benefits

(a) Not every example of out-of-state economic externality imposed by state leg is protectionist leg 

(1) If state impose measure under police powers (i.e. banning smoking in bars) that also causes neg econ externality on other states (NC) then not going to be considered protectionist but perfectly valid under police powers

(2) DCC picks out somewhat arbitrarily a subset of laws that are characterizes by a high likelihood of inefficiency b/c of political process failure where costs are externalized to out-of-staters

· Looks mostly like tariff/trade reg

· Landfill case → many cases are arbitrary b/c of limits of looking at econ effects

(b) The farther away from trade regulation it is the less likely that ct will see it as dcc violation
ii. Looking at econ effects of law not enough → need to know something about purpose
(a) Econ effects don’t nec tell you if law is efficient or not → could have tariff imposed on a out-of-state product to pay for the costs that product imposes on env or health of in-staters

(b) What courts have done is NOT look at econ effects, but look at purpose of law and strike down one particular purpose (protectionism) that they regard as bad → in doing this run into the same old problem of trying to figure out what a leg purpose is → so courts are guessing

(c) Criticism of the purpose test

(1) Protectionist purpose test not perfect screen for inefficient law

(2) Test is under-inclusive b/c just b/c leg is not protectionist doesn’t mean it is econ efficient

· Are lots of forms of inefficient leg that externalize costs out-of-state that aren’t a dcc violation

(3) Cts bad at figuring out econ efficiency of laws (admin agencies could do better) 

(d) Pros of the test

(1) Is a good test b/c cts are able to do exactly what we want them to do and then we fill in a theory why the incompetence is a good thing b/c it produces a state of the world that is normative

(2) Theory: DCC represents a principled compromise b/tw state autonomy to regulate as it pleases and maintaining national unity

3. FIGURE OUT WHEN SC IS GOING TO STRIKE DOWN LEG UNDER DCC

a. Cases

i. Wyoming v. Oklahoma (266) (SC 1992)

(a) Facially discriminatory statute = in-state/out-of-state distinction written into the statute

(1) Might be more problematic under dcc → red-flag for cts to look at

(b) OK loses b/c can’t think of any other reason (env, health/welfare of state citizens) for statute besides protectionist purpose

(c) Take home point: Think of reason besides protectionist purpose to justify leg
ii. Maine v. Taylor (282) (SC 1986)
(a) Maine prohibits importation of live baitfish (want to use Maine baitfish)
(b) Maine proffers env reason for statute → SC buys it b/c purpose fits with how statute is drawn (why the env reason didn’t fly in the NJ landfill case)

(c) Take-home point: Lang of statute needs to fit with non-protectionist purpose
iii. Hunt v. Washington State Apple Advertising Ctee (303) (SC 1977)

(a) NC passes law trying to ban Wash apples, is facially neutral though b/c says applies not to Wash apples, but to non-USDA approved and Wash uses their own system

(b) SC strikes down b/c says health and safety reason is a pretext for protectionism

(c) Take-home point: Even if facially neutral and good fit, can balance effects and see is clearly protectionist

iv. Few categories of cases where can’t predict along purpose lines

(a) When states are acting as “market participants”

(1) When states are acting through proprietary functions (i.e. buying coal to heat state buildings) then no dcc violation for being protectionist

(b) Exception to market exception: Art 4, privileges and immunities: States are forbidden from discriminating against citizens of other states to “important interest” (= econ and employment interests)

(1) I.e. NH can’t limit acceptance to bar to only NH residents

(2) Licensing cases: States try to charge hire licensing fees to out-of-state fisherman than to in-state

· If recreational fisherman → Art 4 doesn’t apply b/c not and important interest

· If commercial fisherman → does apply

(3) Corporations are covered by Art 4, are covered by dcc

(4) Art 4 is part of real Const where dcc is weird stat interpretation, if SC decides that leg violates Art 4 then C can’t overturn

(c) Subsidies

(1) Same econ effects as tariffs

(2) BUT cts treat 100% differently (almost always OK) b/c looks like are helping locals rather than hurting non-locals

(d) Trucking cases

(1) SC v. Barnwell: SC strikes down size restrictions on truck

(2) Explanations 

· Consistent with other dcc cases b/c at the heart of trucking restrictions are protectionist purposes

· Not consistent with other dcc cases, but SC seems concerned w/keeping reg of interstate highways open and in control of C

· Environmental → adverse affects on neighboring states w/out size restrictions b/c inc in large trucks

b. Take-home point

i. Dormant CC only affects subset of laws that cause econ efficient and neg externalities

ii. Reasons why this particular subset are affected

(a) Pragmatic: Draw line where SC can handle (at purpose?) and leave rest up to C

(b) Compromise of values w/in federalist system

(1) State autonomy

(2) National unity

III. Separation of Powers: Presidential Powers
1. Theory

a. Separation of powers (means 2 things)
i. Separation of powers in literal sense
(a) Gov’t can do 3 things → legislate, execute, adjudicate

(b) Problem is that no one difference b/tw 3 branches except in an abstract way

(1) Legislate: Basic policy that governs private actors

(2) Execute: Enforce policy judgments

(3) Judicial: Adjudicate disputes that arise under policy judgments

ii. Checks and balances
(a) Overlaps an intermingles powers in complicated way so that it is a mixing of powers rather than a separation of them

(b) This is based on the idea that different social orders should all have a voice in lawmaking, can’t run the gov’t unless have the consent of all important groups that need to be represented and can’t have only one group running b/c deteriorates into chaos or tyranny → need all 3

(1) The one → king → wants monarchy → which an devolve into tyranny

(2) The few → lords → wants aristocracy → devolve into oligarchy

(3) The many → commons → want democracy → which devolves into mob-rule (anarchy)

b. Const is awkward blend of separation of powers and checks and balances

i. Institutional divisions are being substituted for class divisions: Madison had an idea that branches of gov’t would compete with each other for power and prevent one branch from accumulating too much power

ii. Theorists have had trouble explaining why US system any better than parliamentary system

(a) Pro: Separation of powers seems like a good idea for efficiency → each branch specializes

(b) Cons: Separation of powers + checks/balances requires branches to agree before anything can get done = huge inefficiency

(1) Counterargument: That inefficiency a huge plus of the system b/c prevents corrupt branch from taking over entire government

(2) Two types of corruption

· Agency: Elected gov’t officials behave like monarchs and ignore the interests of their constituents and run gov’t like a personal fiefdom

· Faction: Group of powerful constituents captures representative gov’t officials so that gov’t power being used to advance selfish interests of these particular constituents

iii. Madison’s theory was that institutional structure of sep and candb would make Const self-enforcing, each branch would have to stick to their enumerated powers b/c other branches wouldn’t let them infringe on theirs

(a) Problem 1: No agency problem, in fact have the opposite problem of Cpeople not being able to separate themselves enough from their constituents 
(b) Problem 2: Do have a faction problem (IG’s) but the institutional structure of the branches has not solved it

(1) With rise of admin state → C too eager to hand off power to exec

(2) Interrelation of problems: Cpeople care more about getting re-elected than the good of the country and will do anything in order to get re-elected, shifting blame to exec/admin agencies is a good way to shift blame and get-reelected 

(c) Problem 3: Madison thought that institutional branches would have their own character, that Cpeople would care about protecting power of C as an institution, but Cpeople care about protecting their party more than the institution of C → political parties control the behavior of the branches

(d) Analogous to political safeguards of federalism argument → state and fed compete so that neither has too much power, this argument didn’t work either b/c state officials only care about getting reelected (by pleasing their political constituencies) and not about protecting sovereignty of the state

iv. What you think about the strength of the inefficiency/efficiency debates depends on what you think about gov’t

(a) If think that gov’t does good things → efficiency is a good thing

(b) If think that gov’t does bad things (i.e. wealth redistribution) → inefficiency good b/c prevents gov’t from acting

v. Presidential system pros/cons

(a) Pros

(1) Deliberation

(2) Moderation

(3) Super-majoritarian requirements

(4) Compromise

(b) Cons

(1) Gridlock leads to instability

(2) One branch (usually presidential) seizes unilateral authority → dictatorship

2. Presidency and scope of presidential powers
a. Practical powers of prez going to be greater than paper powers just b/c being a single person gives him a huge advantage b/c he can act decisively, quickly and secretly combined with the fact that P is a single, identifiable person

b. Art 2

i. Art 1 (governing C) grants leg the powers “herein” granted → implication that the powers that Const gives C are the only ones they get

ii. Art 2 (governing P) does not limit P’s powers to the ones “herein” granted → implication that he might have “inherent” powers besides those specifically enumerated 

(a) Original understanding unclear

(1) Madison → Prez has only Art 2 powers

(2) Hamilton → inherent powers

(b) Most P’s have agreed with Hamilton that prez has inherent powers and jud has seldom got involved, leaving it to leg/exec to figure out

c. Youngstown (336)
i. Stands for the proposition that P can’t make the laws even when fate of war depends on it

(a) Black opinion → Only power that prez has is given to him by C through a statute or expressly enumerated in Const

(b) No inherent power to seize mills

ii. Frankfurter concurrence

(a) From the dicta he is saying that P has some sort of inherent power

(b) In this case he thinks that C explicitly forbade P seizure so P can’t do, but if C hasn’t impliedly or explicitly prohibited P than he thinks there is narrow scope for Prez to at outside of his enumerated powers based on historical practice 

(1) Adverse possession conception of prez power: If P has always done something and C has never stopped that it is an inherent power of P

(2) Tradition has interpretive value

(3) This sort of comports with our respect of stare decisis

· DP → notice of what law is, so can comport behavior accordingly 

iii. Jackson concurrence = Take-home from this case
(a) 3 categories of P authority to act
(1) C has authorized P to do it

· Here P power is at is max

(2) C has said nothing about P’s power to act

· Twilight zone of P authority

(3) C said P can’t cant

· Prez power at min

· This can be an implied or explicit assertion that P can’t do something

(b) 2nd category → when C hasn’t spoken either way (emergency powers of P basically)

(1) Jackson doesn’t try to define or put limitations on P’s power b/c in time of emergency P going to act so no need to spell out legal rules b/c P will just ignore them

(2) No Const enumeration of war powers or emergency powers of P, there are for C

· If P doesn’t have de jure powers he has de facto ones b/c during time of emergency is when institutional advantage of P (one man) at its greatest

(3) Jackson is saying that P is going to act in emergency even if cts try to say that he can’t do so under Const → don’t want to make Const meaningless, so just say that Const says nothing about it (letting him do what he wants)

(c) Two different interpretations of what we from Const

(1) Const that recognizes that P going to take action even if he doesn’t have paper authority; OR

· So SC would be giving Const authority to idea of inherent powers

(2) Pretend that Const says nothing about it
· Know that P going to act and don’t want to deform Const by giving him Const sanction to act outside of his paper powers

(d) Facts of case → Truman in category 3 b/c SC says that C has spoken through Taft-Hartley Act

(1) There is room for disagreement about whether C has actually spoken

(2) Negative implication in Taft-Hartley → didn’t give authority to seize so therefore he doesn’t have it

iv. Issue is what happens when C is silent → what is default rule?

(a) Jackson’s opinion doesn’t give us one

(b) 2 possibilities → Huge practical difference

(1) P can act until C tells him he can’t; OR

· If P can act until C says he can’t, C has to have a supermajority (enough to override veto) in order to stop him

(2) P cannot act until C tells him that he can

· If P needs permission to act as to get a majority (enough to pass statute)

(c) B/c SC doesn’t make rule is inviting judges to decide if C has spoken, not spoken or been done nothing using the tools of stat interpretation → value judgments by judges going to limit/not limit P authority
3. War powers debate

a. Const invites power struggle btw C and P

i. C has power to declare, raise, fund army and navy

ii. P is commander in chief (cinc)

iii. No real cases, cts have left it up to the branches to resolve the problem themselves

iv. 2 questions that arise

(a) What constitutes a declaration of war?

(1) Formal declaration of war by C

(2) C Resolution (i.e. Tonkien Resolution, Joint Resolution)

(b) How much authority does P have to initiate and start military actions to engage in hostilities short of getting permission slip from C?

(1) Only real authority is to defend US from attack

(2) In practice → P will fight any military action HE feels is necessary and C will defer to the prez by giving him an OK (resolution) after the fact or not doing anything about it until after war (Vietnam)

b. War Powers Resolution of 1973

i. What it does

(a) It gives a set of criteria under which a P can send military troops into hostilities

(1) Pursuant to a declaration of war

(2) Pursuant to a specific statutory authorization → Tonkien, Joint Resolution

(3) In response to nat’l emergency

(b) Requires that unless C has declared war P has to withdraw troops in 60 days

ii. P’s argue that it takes away Const power of cinc

iii. In practice no difference b/c Prez ignores

iv. Other ways C can take away P’s war powers

(a) Cut of funds → C has chosen not to do this most of the time

c. Post-911

i. Geneva convention → 3 classifications of captured enemies

(a) Enemy soldier captured in war

(1) Can be held to end of war and then repatriated

(2) Can only be tried if violated terms of war

(b) Captured civilians on battlefield

(1) Can be tried for crim activity → murder, terrorism (which is fed crime)

(c) Unlawful/enemy combatants

(1) Generally spies and saboteurs 

(2) Engaged in hostilities towards US soldiers or US war effort

ii. US gov’t taken position that everyone picked up in course of war on terrorism in an enemy combatant

(a) US can hold them until end of hostilities (end of war on terror → indefinitely)

iii. Military tribunals

(a) Exec order (pursuant to Joint Resolution) establishing military tribunals for trying non-US citizens who are suspected of being associated with Al-Qaeda
(b) Procedure

(1) Military lawyers

(2) BRD

(3) No juries

(4) No JR outside of exec branch

(c) Civ libs arguing that beyond P power under Youngstown, Bush is arguing that he has power under Joint Res and CinC

iv. History of military tribunals

(a) Have been used by US military in Nuremberg, in occupied territories, to replace US civilian cts where marshal law has been declared

(b) Ex parte Milligan (SC 1866) (Supp 44)

(1) No one doubted that military tribunals okay in Confederacy, issue was whether or not they could be used in North

(2) SC says that violation of DP and crim rights to use tribunals in N

(c) Ex parte Quirin (SC 1942) (Supp 42)

(1) German saboteurs that turn themselves in, use military tribunals to convict

(2) Quirin is leading precedent for what Bush is doing

· Ct doesn’t hold that tribunals are under CinC authority of Prez bc there are C statutes authorizing Prez to do this → so in Jackson category 1

· Statute that SC pointed to in 1942 reenacted in 1950 = explicit C endorsement of military tribunals

v. Sunstein article

(a) Bush has at least as much authority for tribunals as Roosevelt did in Quirin

(b) Difference is context

(1) During WWII country actually thought its survival was at issue → don’t have same fear today →?? I think this argument is weak

(2) Roosevelt had huge mandate, Bush doesn’t

(3) Committed to protecting civil rights today in a way that we weren’t in 1942

(4) Declared war v undeclared war

(5) Is war on terror more like war on drugs rather than WWII type of war

· If so, then proper place for trials is civ cts

· Good argument that Al-Qaeda more like international drug cartel than Germany

d. Padilla
i. Gov’t trying to use Quirin as precedent to hold people like Padilla (people picked up on US territory accused of plotting against US)
(a) Quirin is distinguishable under Con law interpretation b/c

(1) War on terror not a declared war

(2) Fundamental difference btw war on terror and other wars that affects CinC authority

· WWII → broad CinC authority

· War on terrorism: Can attack Afghanistan but cannot lock up citizens → something less than full CinC authority given to pres during declared war

(b) DC says that can hold enemy combatant as long as war on terror lasts only JR is to make sure that P has “some evidence” that this person is enemy combatant → ct says gov’t affidavit sufficient

ii. 2nd Circuit reverses

(a) Majority thinks we are in Youngstown category 3

(1) No inherent prez power to do this → no history??

(2) CinC authority is limited when P is acting outside zone of combat

(3) Non-detention Act = C explicitly saying P can’t do this

· Can’t detain US citizens with no DP rights UNLESS have C authorization

· Ct says that Joint Resolution not explicit enough to count as C authorization

(b) Dissent 

(1) P has inherent authority to do this

(2) Category 1 case b/c Joint Resolution authorizes P to do this

iii. Even if SC affirms 2nd Circuit all it means is that Bush has to go to C and try to get authorization for this
4. Summary of pres powers

a. Is war on terror more like WWII or crime (war on drugs)?

(a) Different structure of power depending on your answer

(b) P has more leeway when conducting war than when doing ordinary crim law enforcement

b. War powers doctrine

(a) As long as C authorizes (or doesn’t explicitly say you can’t do it) P can do it

(b) If P and C want to do something it will take counter-majoritarian effort for SC to stop them

(c) Indiv rights concerns → DP

c. Summary of powers part of Const
i. C can do almost anything → enumerated + cc
ii. States can do anything except when preempted by C or sometimes DCC

iii. P can do whatever he can away with under Youngstown framework
IV. Equal Protection I: Rationality Review (474-499)
A. Structure and Doctrine

1. Equality
a. Equality = things that are alike should be treated alike and thinks that are unalike should be treated unalike in proportion to their un-alikeness

i. Problem is that every law discriminates against some people for the protection of others so EPC can’t mean that gov’t can’t discriminate or classify people into groups

ii. EPC has to be a question of which types of classifications or discriminations are permissible and which’s aren’t → have to decide which groups an be assigned burdens (social, econ leg) and which groups can’t (race, religion, gender)

b. New York City Transit v. Beazer (475) (SC 1979)

i. MTA has rule prohibiting methadone users from working for them

(a) Methadone users argument

(1) They argue (and have empirical evid) that methadone users who have been on for 1+ years are no worse employees than anyone else from general pool

(2) Arguing that fit of classification bad for the purpose that MTA is purporting to be making the classification based on (safety and efficiency)

(b)  Question is whether classification (fit) rationally related to gov’t purpose

(a) Majority says that exclusion is broader than necessary but is lose enough fit for EPC

ii. Fit is question of degree

(a) Fit can never be perfect b/c all laws are both under/over inclusive

(1) Over-inclusive b/c excludes some qualified people

· If disallowed every law that was over-inclusive run into a problem of what will be your stopping point → will have to do indiv assessment of every app

· If under-inclusive (that it doesn’t screen for all dangerous employees), where is logical stopping point of this argument b/c could argue that every law is for the public good and there is always some other law that could further the public good more
(2) Under-inclusive b/c doesn’t exclude some non-qualified people

(b) Rule (no methadone users) is a proxy for a standard (good employees)

(c) Balance efficiency gains (saving in admin costs from testing each applicant on multiple variables to see if going to be a good employee) with inaccuracy (excluding some methadone users who would be good employees) of using a rule

iii. What is permissible fit?

(a) Leg could make every law fit perfectly by making purpose whatever the law in effect accomplishes

(1) In Beazer would say that purpose was to disadvantage methadone users and re-distribute their employment opportunities to other more deserving groups

(b) Fit has to be legitimate policy as opposed to illegitimate bias or prejudice

iv. Take-home point: To survive equal protection analysis using rationally review (for social or econ legis)

(a) Decent enough fit b/tw means and ends

(b) Ends have to reflect legitimate to as opposed to illegitimate bias or prejudice

v. Distinguishing btw prejudice and legitimate policy judgments

(a) Not a CBA b/c cost and benefits hard to balance and there are lots of legit policies that aren’t CBA effective (any wealth redistributions)
(b) What cts have done is to decide that some gov’t objectives are Const off-limits and the rest are ok

(1) Classifications based on race, gender, religion are the types of classifications that gov’t can’t make → EP has come to mean no discrim against certain groups

(2) Any social/economic classifications are OK

· Even if they have a disparate impact, if leg can show that no discrim purpose in enacting leg (if they can think of any legit reason) than going to survive EPC

· Dissent in Beazer thinks that discriminating against methadone users is a proxy for race since most methadone users are minorities 

2. In practice rationality review has no teeth

a. Railway Express (484): Leg classification that says that advertising vehicle not OK but advertising on vehicle used for work OK

i. Gov’t says it purpose is to prevent traffic hazard

(a) Legit → YES b/c traffic safety ok policy goal

ii. Rationally related (fit)
(a) Seems arbitrary b/c not getting rid of all traffic hazards caused by advertising but ct say OK b/c are taking it one step at a time

(b) As long as fit not entirely unrelated OK

b. Minnesota v. Clover Leaf (485): Statute that says that milk has to be sold in paper containers not plastic, gov’t offers purpose of environmental protection but at end of trail there is evidence that plastic better than paper, so purpose (protecting environment) seems totally perverse to fit

i. Ct says that as long as theoretically could be true that plastic is worse than paper doesn’t matter if it is empirically true

ii. Real reason → IG

c. In each case there is a made-up purpose that sounds nice, noble, but everyone understands that the real reason is to benefit some IG, so classification tends to fit IG purpose quite perfectly but it tends to fit up to nice sounding goal pretty terrible, so if ct wants to uphold has a choice of how to frame

i. Say real purpose is IG purpose and fit is perfect and say that IG goal is legit

ii. Going to pretend that nice-sounding purpose is the real purpose and even the fit is terrible uphold it → this is what cts do
d. If ct wanted to put teeth in rationality review instead of rubber stamping → 3 things have to do

i. Figure out leg actual purpose
(a) Argument that this is an end in itself b/c maybe all cts should be doing under Con law is ferreting out the actual purpose of legislators to alert voters to what gov’t is up to (one idea of JR)

(b) Problematic b/c hard to figure out intent of leg

(1) Hard to assign intention to collective entity b/c indiv members could be voting for different reasons (some for IG, some for nice purpose, others for political reasons)

(2) DL doesn’t think it is that hard to figure out intent of leg b/c it is equally hard to figure out single intent of indiv but we do it all the time (crim law)

· Purpose = external prescription of external behavior

· Attributing purpose is always an interpretive question b/c behavior always has multiple explanations

ii. Make sure that classification does bear a reasonable fit to the actual purpose → ? of degree

(a) Leg can’t make up a noble purpose unless it is actually furthered by the classification

(1) Fit is going to tell you about purpose → if fit too bad than purpose offered is not the actual purpose

(b) In order to decide if fit is close enough → going to have to decide what is “close enough”

(1) This entails making a value judgment about groups that are benefited/harmed
(2) Would have to do balancing of admin costs against error costs → difficult for cts to do

· No objective way to decide what is an optimal/acceptable trade off b/tw admin costs and error costs

iii. Purpose has to be legitimate
(a) This is where possibility of meaningful JR breaks down b/c ct has to make distinction b/tw policy and prejudice and what ends gov’t allowed to pursue and which they are not

(b) Counter-majoritarian problem

(1) OK for ct to pursue republican, deliberative good type of ends

· Cts should enforce Madisonian type of civil republicanism under rationality review of the EPC

(2) Not OK to pursue selfish, IG type ends

· Politics goes bad when reps pander to IG’s

· Idea is to insulate reps from selfish mob and give them enough indep to deliberate for the public good, but problem is ct has to decide what is public good

3. Summary: EPC JR in its current form legitimates IG deals reframed as public good deals and shields leg from accountability
B. Theory of Rationality Review

1. Sunstein

a. Sunstein has theory to use EPC rationality review as a way to police C 

i. They should be having in civic republicanism way NOT in an IG way) by striking down laws that represent raw exercises of power 

(a) Powerful IG getting their way for no better reason than they are powerful or rich,

(b) Where only conceivable purpose of statute is to benefit IG should strike down

ii. What cts do is force leg to come forward with publicly sounding reason that everyone knows is BS → perverse b/c it actually tricks constituents into thinking leg is doing something good

iii. 2 ways for cts to tell difference btw statutes that are product of deliberative democracy and those that are part of IG demo

(a) Substantive

(1) Public regarding laws look systematically different than IG laws

(2) What are those different characteristics?

· Redistribution of wealth?

· No objective criteria → is judges applying their value judgments

(b) Procedural

(1) Cts look at process and ask whether or not is looks more like pluralistic process

(2) Problem is what happens when it is a combo of IG pressure/public deliberation

b. Normative aspect of argument

i. Ct should be policing these statutes to make sure they are actually furthering the nice sounding public purpose they profess to be doing

ii. Statutes should be a product of republican politics, reflecting deliberation about the public good, NOT giving way to IG

c. Criticisms of this argument

i. You can always describe any statute in republican or pluralist terms

(a) Ct going to impose value judgment on whether they like law or not and frame their characterization of it accordingly = counter-maj problem

(b) Counterargument is typical response to counter-maj problem

(1) Cts more insulated, reasonable, representative of median voter

ii. Madison’s idea of civic republicanism is based on elites running the country

iii. What is Const basis for thinking that pluralism or republicanism is better than IG politics
2. Cases where cts strike down under rationality review
a. City of Cleburne v. Cleburne Living Center (488)

i. City zoning ordinance that excludes group homes for mentally retarded
(a) Leg says distinction is to product mentally ill from drowning b/c site is located on 100 yr flood plain

(1) Fit is SO bad that flushes out real purpose which can’t have anything to do with offered fit

(2) Under-inclusive → don’t need empirical evidence b/c everyone who couldn’t swim could drown

(3) Real reason is city liability → but frat houses pose same liability

· What about argument in advertising case → one step at a time OK

(b) Ct is doing heightened scrutiny and not saying so

(1) Doesn’t want to give mental ill full protection of heightened scrutiny

(2) Says that purpose not legit b/c based on prejudice

ii. There is something about mentally ill that makes them subject to extra protection as a class

(a) Immutability

(1) There are many cases where OK to discrim based on mental illness so can’t be char of 

(2) There are many cases where not okay to discrim on mutable char (like religion)

(b) Ct is making moral judgment about which char can discrim against

b. Moreno (492)

i. Food stamp eligibility rule that says don’t get if live in household of non-related indiv

ii. Real reason is don’t want hippies to get food stamps

(a) Ct says desire to make life harder for one group that maj doesn’t think comports with proper culture not legit reason for this statute

(b) Problem is that OK for states to regulate polygamy which is also counter-cultural thing

c. Romer v. Evans (493)

i. Colo enacts statutes saying that local gov'ts can’t pass anti-discrim statutes to protect homosexuals

ii. Maj says not OK, Scalia says ok b/c animus is legit disapproval of homosexuality by majority

d. Take-home points
i. Rationality review invites cts to make case by case decision about which social/econ legislation counts as legit gov’t purpose and what doesn’t

ii. Every case not involving suspect class, suspect class audition (Cleburne), or misc others will be subject to rationality review

(a) Make standard arguments about how or how not the statute is rationally related to a legit purpose
(1) If leg come up w/nice purpose

(2) If arguing against

· Over/under inclusive

· Error costs outweigh admin costs
V. Equal Protection II: Race and the Basic Paradigm

A. Historical Background: the Constitution and Slavery (421-37, 692-709)
1. Pre-Civil War

a. Const has all sort of protections for slavery

i. There are 3 direct provisions in Const that explicitly protect slavery
(a) Art 1, sec. 2 (3/5 compromise)

(b) Art 1, sec 9 (foreign slave trade)

(c) Art 4, sec. 2 (fugitive slave)
(1) Prigg v. Penn (426) (SC 1842)

· N states are passing personal liberty laws which require N state judge to  make sure than an escaped slaver was really was an escaped slave and not free N

· Ct said unConst

· N states ignore → begin pattern of ignoring SC decisions about slavery

(2) Fugitive Slave Act → N states ignore that too (so are ignoring C and SC)

ii. Indirect protections

(a) Art 1, sec. 8 → C has power to protect insurrections (put down slave rebellions)

(b) Art 1, sec. 9: Protects export taxes (can’t tax cotton unfairly)

iii. After Missouri Compromise big issue was whether or not Const let C regulate slavery in territories 

(a) Dred Scott (SC 1857) (427) → 2 imp holdings
(1) Blacks (whether free or slaves) were NOT citizens
· No diversity of citizenship to bring cases in fed ct → so that screws then in the S

· Free black in N can’t be citizens

· Privileges and immunities clause doesn’t apply to them → so free N blacks traveling in S can be treated as badly as slaves

(2) C has no authority to ban slaves in territories
· Missouri Compromise unConst (1st time SC has declared act of C unConst since Marbury)

· Taney opinion: C has limited power to regulate territories under Art 4 → can has power to admit new states and regulated unincorporated territories but does not have the power to make substantive rules governing the territories

· Taney also says that territory gov’ts themselves CANNOT ban slavery b/c it is a violation of property rights under DP (= taking)

(b) There was no clear Const basis for deciding Scott it was clearly a political decision

(1) Political positions on slavery in 1850’s (3)

· N Wigs (Lincoln): free soil → C is Const required to ban slavery at least from N territories

· N Democrats (Douglas): Territorial sovereignty
· S Democrats: Common property view → what Taney went with in Scott

(2) S was worried that C would go with one of N views → so went to SC to decide whether or not C had any authority over slavery in territories → this is clearly case of SC acting as political actor → no pretense of mech interpretation

· Only Const argument with any merit (that before Const ratified, C decided to ban slavery in N territories) = No Const rule one way or the other, was not argued by either side b/c it didn’t fit in with their politics

· Scott was a transparently political act by Ct → N just totally ignored it
(3) Wasn’t entirely SC’s fault → b/c C totally punted them an impossible situation

b. Take home: When have a highly divisive political issue might not be the best plan to give to SC to decide as matter of Const law, especially where Const law is ambiguous (which is usually is) b/c whatever decision is going to seriously undermines legitimacy of the SC and esp JR
i. Several occasions where no way that Const clearly says one side is right and SC just makes 100% political decisions
(a) Scott → discredited SC

(b) Brown → inc controversy (busing part was bad, Brown I probably good)

(c) Roe → inc controversy

(d) Bush v. Gore → settled things

ii. If no plausible way that case can be decided by mech interpretation, why are people willing to defer to SC under the guise of Const law?
2. Post-Civil War

a. Huge shift in thinking about Const theory after Civil War

i. Pre-civil war: Greatest threat to indiv rights was distant threat of nat’l gov’t

ii. Post-civil war: Greatest threat to indiv rights was states, esp S and nat’l gov’t seen as the protector of the indiv rights of citizens from tyrannical state gov’ts

b. Civil War amendments memorialize this shift in thinking

i. 13A: Emancipation Proclamation → limited in geo (only apply to S) and to wartime b/c prez made under his wartime powers

ii. 14A: EP and DP

(a) Sec 2, 3, 4: Political power play by Rep C to make sure they win next election

(b) Sec 1: Designed to protect black right and loyalists

(1) Overrules Scott and says that blacks are citizens → can’t abridge privs and immunities clause → EP

(2) DP → state gov’ts can’t deny DP (previously only DP applied against fed)

(c) Sec 5: Gives C right to enforce substantive portions of Sec 1 → pre CC power that C used to reg

(d) Primary purpose of the 14A is to provide unambiguous Const support of Civil Rights Acts which gave blacks civil rights ONLY

(1) Civil rights: Right to K, prop, ct access (what 14A is limited to)

(2) Political rights: Voting and jury service → 15A for voting
(3) Social rights: Education, access to public accommodations, transportation, interracial marriage, etc. → everything else

iii. 15A: Prohibits US or states from denying right to vote and gives C power to enforce

c. Slaughterhouse Cases (693)
i. 1st SC interpretation of 14A → La Butchers challenge monopoly grant to 1 butcher

ii. Challenge under 2 prongs of 14A

(a) EPC → Ct says EPC only applies to race = birth or rationality review v. heightened scrutiny

(b) Privs and immunities

(1) Ct creates dual citizenship concept (people are citizens of both state and fed gov’t and they have different rights attached to them)

(2) Privs and immunities protects citizens against the states abridgement of the rights of national citizenship but doesn’t say anything about states abridgement of the rights of state citizenship

· Rights of federal citizenship are rights to habeas corpus, right to travel → not really the rights that citizens actually care about

· What you really want if you are a state citizen is the privileges of state citizenship (bill of rights)

(3) Framers of 14A understood P&I to be the centerpiece of the amendment → they thought it would mean that the rights protected in the bill of rights as against the fed gov’t would now be applied to state gov’t → this case says NO → bill of rights are NOT going to be applied to state gov’ts 

· Ct cannot except shift in Const thinking after civil war, still think that Const is only about protecting indiv from the tyranny of the NATIONAL gov’t, not the state gov’ts

· If P&I read to transfer rights protected by bill of rights as against fed gov’t to state gov’t then that would make SC police of all state leg → this is exactly what 14A intended to do → SC just pretended that it didn’t

· Civil war was about slavery and states rights → SC willing to accept that N won on slavery but not willing to accept that SC won on states rights

3. Incorporation
a. Because of Slaughterhouse, ct has to go back and apply each right of bill of rights (and some others) one by one against the fed gov’t and has to do it under DP clause of 14A

i. Twining v. NJ (SC 1908) (704): Concept of liberty includes some of the rights enumerated in the 1st 8A’s + any other fund purposes of liberty

(a) What rights are fundamental to liberty? → Debate b/tw Black and Frankfurter in Adamson v. California (SC 1947) (705)

(1)  Black → total incorporation of BoR

(2) Frankfurter → case by case analysis according to “liberty” right

· This way (which the way the ct went) might be more generous b/c it includes imp BoR + other rights 

ii. By end of 1971 every right in BoR is incorporated except for 2A, 3A, grand jury, right to jury trial in civil cases → only way to distinguish these rights from others is that justices never thought they were important enough

iii. Bonus of incorporation is that when cts have made up new rights not enumerated in BoR or Const have done so under DP and b/c DP exists in both 5A and 14A the new rights apply directly against both state and fed gov’ts

iv. Duncan v. Louisiana (707) (SC 1968) In considering the incorporation of a protection, instead of considering if a system could be imagined without a particular protection, as done in the past, one must consider if in a real system the particular protection is fundamental.

c. Const theory implications of incorporation → Amar article

i. Distinction btw agency problem and faction problem

(a) Agency problems: Problems that arise when gov’t becomes disconnected from constituents and behave like dictators → Fed 41 (main worry of Founders)

(b) Problems of facts: Majorities are going to oppress minorities → Fed 10

ii. BoR is focused only on agency problems in fed gov’t b/c founders didn’t think you had an agency problem at the state level

iii. When incorporate a right in BoR have to change the understanding of that right

(a) As applied against fed gov’t right is a protection against agency problems

(b) As applied against state gov’t right is a protection against problems of faction

iv. Huge Const shift b/c biggest problem is now a problem of faction (maj in states oppressing minorities NOT problems of agency at fed level)
B. The Civil Rights Cases and the general problem of “state action”

1. Civil Rights Cases
a. 2 spheres of social life

i. Public sphere → gov’t responsible and Const applies

ii. Private sphere → gov’t NOT responsible and Const DOESN’T apply

b. Prob with the Civil Rights Cases (SC 1883) (1502) was how can C enforce a ban on private race discrimination if 14A only applies to state actors

i. 13A argument: That race discrim is part of badges and incidents of slavery, prob is there is a real difference btw slavery and race discrim so this argument fails

ii. EPC argument: Gov’t loses, ct says have to

(a) Establish the basic point that we must connect the state to the harmful act before we can invoke the 14th Amendment.

(b) Federal laws against the wrongful act of an individual, unsupported by any state authority is simply a private wrong.

(c) NOT entirely clear that SC is rejecting the gov’t power to reach any private race discrim

(1) Compare with Morrisson (cc case about domestic violence)

(2) If C had showed that there was a systematic tolerance of race discrim the case might have come out different = omission my state

(3) Civil rights cases more generous in willing to see private discrim as EPC prob

· Federalism concern at work → there has been a paradigmatic shift in viewing who should protect indiv rights of citizens and from who, but still going to give the state the benefit of the doubt with a presumption that states will effectively protect their own citizens, only when that presumption has been rebutted will ct shift theory to maybe allow EPC violation for omission 
· Modern understanding → don’t need EPC to get private discrim, have cc
2. State Action Problem

a. Easy cases (when there is clearly state action) → statute, evid of discrim intent by state actor; Problem is there is always some kind of state action (enforce trespass laws, etc.) → so the question can’t be is there state action

i. This would run head-on into right of association, privacy cases → gov’t can get at some private discrim by statute

ii. Need to find another way to distinguish state action from non-state action for Const violation b/c there will always be some level of state action

b. Act/omission

i. Deshaney (SC 1989) (1507)

(a) Facts that dad beating kid, social services didn’t take him away, are they responsible for his beating?

(b) Ct says NO, why?

(1) Privacy right pushing in other direction → might violate Dad’s DP if social worker’s were too quick to intervene 

· Bad argument b/c no DP right to beat kid (not even DP right to not let kid go to school)

(2) Need to have affirmative duty to act → line btw omission and commission

· Brennan says that do have affirmative duty b/c started to help kid and then stopped

(3) Floodgates problem

(4) Motive → how do you assess motive in omission?

(5) There is a strong moral distinction btw acts and omissions

(c) There is no reason to cut off line in omission/commission

(1) Not clear there is a practical difference or that it is relevant

(2) Moral relevance unclear

(3) How do we even tell what is omission/commission → semantics

(4) Ct is using omission as proxy for a lack of intent → so intent is what matters in determining if something is state action or not

c. If want to show EPC violation for some type of private discrim need to show state action and discrim intent → standard state action analysis
i. Couple of cases prior to 1965 CRA where ct cheated to get result it wanted

(a) Shelley v. Kramer (SC 1948) (1518)
(1) Gov’t is enforcing discrim covenants

(2) Ct holds that enforcing covenants was violation of EPC

(3) Ct is cheating here b/c enforcing K is neutral function of gov’t → this case wouldn’t come out this way today
(b) Burton v. Wilmington (1961)

(1) Ct holds violation of EPC for gov’t to lease prop to private restaurant that engages in discrim b/c state action is but for cause of discrim and state has been “entangled” with discrim

(2) Raises question how much entanglement is too much?? → can’t answer that mech

ii. Mooselodge (SC 1972) (1538)

(a) Burton analysis gone

(b) Have to have discriminatory intent (so just giving liquor license to grp that discriminated doesn’t count) to have EPC violation under state action

iii. Take home: What gov’t did had to be unConst → like having discrim intent

d. Public function analysis
i. Marsh v. Alabama (SC 1946) (1544)

(a) Private actor can violate EPC under state action if he engages in identical interest to gov’t (co that runs co town is engaging in activity that is basically gov’t) → private conduct that services as substitute for public actor

ii. White primary cases → when Dem party has primary is engaging in activity that is basically a public function so can’t discriminate

iii. Problem with this analysis is there is no theory about which actors should be treated like gov’t and which shouldn’t

(a) Everything done by gov’t today was done by private actors in the past and everything gov’t has done is done by private actors today

(b) Ct stopped this line of cases b/c saw big problems down the road → would have to distinguish private/public function which would have been arbitrary at best

iv. In functional sense the private/public distinction is meaningless, yes in Const law is huge bc Const and all indiv rights apply if considered public

(a) Public law v. private law

(1) Public law = law for public → Const

(2) Private law = law for private citizens issued by gov’t

(b) If public law working correctly (no state actors are engaging in discrim, etc.) then private law should protect people from private harms that gov’t couldn’t inflict
(1) So if all functioning well Const should protect people from private discrim indirectly
C. Plessy and Brown

1. Plessy v. Ferguson (1896) (437)

a. SC says separate but equal not a violation of EPC

i. Original understand

(a) Purpose of 14A was to make blacks equal before the law

(b) Segregation not an obvious violation b/c segregation usually involves social rather than civil rights

ii. LA crim statute BUT it was merely a codification of social practices that have been freely chosen by private citizens

(a) Common law understanding that law is about codifying established usages and customs of society, it’s not about coercing people through law, but about facilitating their private choices

(b) Distinction btw private/public part of law

(1) Social norms are on private side

(2) Public side is primly channeling these norms and applying them in more formalized sway

· Segregation laws don’t count as state action 

· If laws had been about restricting blacks to civil rights = state action BUT laws that are about enforcing social norms (restricting blacks social rights) ≠ state action
(c) Cumming (1899) (441): EP only guarantees protection against discrim of civil rights → SC more definitively states this proposition
(d) Cleburne (448): Modern jurisprudence doesn’t make this distinction for deciding if state action or not b/c all states could argue this reasoning 
iii. Brown argues that gov’t is being neutral (action/inaction distinction)

(a) He thinks that law only reflects private prefs, that it can’t have an impact on them

(1) Benefits and burdens are equally distributed (blacks can’t go on white cars, whites can’t go on black cars)

(2) Plessy makes argument that enforced separation stamps colored race with a badge of inferiority → SC says if this is so it is only b/c blacks choose to put this construction on it

(b) Counterargument

(1) Nominally separate but equal never really equal 

(2) Even if laws are symmetrical, the social meaning attached to them is highly asymmetrical

(c) Prob is that stigmatic harm (whether attached by blacks or whites) is a private harm → no state action, no cognizable harms for SC to remedy under Const

b. Harlan dissent

i. Stigma that comes from law is itself a type of harm, as soon as the law is put on the books it harms black people in a way that it doesn’t harm white people → no gov’t neutrality, violation of EPC

(a) Can’t draw the sharp public/private distinction that maj wants to draw → boundary is permeable for both public/private and laws/prefs

c. Plessy argument that allowing racial discrim would also allow state to mandate discrim based on hair color
i. SC says every law has to be reasonable (early rationality review) → hair color not rational distinction

ii. SC really believed that race classifications were for the public good and not for the annoyance or oppression of a particular class of people

iii. Law was just a function of nature and private choices

iv. From externalist perspective impossible for SC to strike down seg laws b/c of this perceived natural distinction
d. What changed btw Plessy and Brown?

i. Internal change → NAACP starts legal challenge in 30’s focusing on segregated public edu instead of inequality
(a) Gaines v. Canada (1938) (444): Missouri not admitting black students to law school but offers tuition reimbursement to go to law school in another state that does allow blacks BUT SC says violates EPC, logic of opinion unclear b/c say that Gaines is NOT disadvantaged b/c would have to go out of state to law school BUT not okay for Missouri to not have in-state option
(b) Sweatt v. Painter (1950) (445): Orders admission of black student to UT Law even if have in-state black school b/c black student will still be disadvantaged at black school b/c not the same amt of prestige and being excluded from going to school with white kids might be an educational disadvantage → No room for separate but equal under EPC in higher edu

(c) McLaurin v. Okalahoma (1950) (446): Can’t admit blacks to school and then put them in separate classrooms → separation of races becomes equivalent to inequality

ii. External change → Klarman, post-War changing racial attitudes
2. Brown I

a. Asking ct to deseg lower education different than higher b/c conceivable that could have separate but equal schools for lower education
b. Hard for justices to get to this decision (even if committed social liberals) bc mech interpretation NOR original understanding will NOT get you there

c. Have to make a Dworkinian move that EP is an abstract concept that changes over time so that equality in 1954 means something different than equality in 1868 → SC is basically saying that seg is illegal as matter of PP (but don’t have the stat to do it, but it needs to be done, so have to pretend that Const dictates in order for anyone to uphold legitimacy of the decision)

d. Rationale

i. School seg laws are clearly state action

(a) Harlan’s dissent: There is an asymmetrical harm imposed by seg laws b/c everyone understands the point of them is to keep black students out of white schools

(b) Stigma → private understandings are NOT indep of law → so can’t say private/public distinction protects seg

(c) Material harm = educational disadvantage that falls more heavily on blacks

ii. 2 problems with seg schools

(a) Stigma → separation black kids solely as a matter of race generates feeling of inferiority

(b) Educational disadvantage → segregation retards education and mental development

e. Changes that allowed Brown

i. Internal change → ct got rid of private/public distinction for seg laws

ii. Externalist change

(a) Social science evidence used in Brown → country moving from genetic explanations of racial differences to cultural ones 

(b) If racial differences a product of culture → gov’t and law have much bigger impact
D. Brown II and the “remedy” of school desegregation

1. Brown II (1955) (453) → What does Brown I require? Erasing Seg Laws or Integration

a. 2 main rationales for Brown point in opposite directions

i. Stigma → taking laws off the books of to satisfy

ii. Educational disadvantage → integration going to be necessary

b. SC just punts back to district cts to find solution

i. Extreme backlash in S

(a) Cooper v. Aaron (1958) (457 → deseg has to continue and exec (Eisenhower) better enforce

(b) Massive resistance → race and seg become most salient political issue

(1) The perverse and accidental effect of Brown was that it created massive hostility in S and provoked S violence but the S violence was what led to progressive racial change when the N saw the violence
ii. 1964 CRA

(a) Gives AG authority to investigate → now gov’t bringing cases not indiv P’s who you can threaten

(b) Gives gov’t agencies authority to cut off funding if states don’t deseg

c. Historical path of deseg

i. 1954-1964: No deseg b/c if ct had ordered S to move faster, exec wouldn’t have enforced and didn’t want to issue and order it knew it wouldn’t be enforced (would undermine legitimacy of both prez and SC)

ii. After 1964, 1965 CRA and nat’l consensus about misbehavior of S ct could get more aggressive and be confident of political support that would insure enforcement

(a) Griffin (1968) (459): VA school system just closes all of its schools instead of deseg, SC says closing schools violates EPC b/c is acting w/motive to avoid desegregation (non-neutral 
2 Green &  Swann

a. Green (1968) (459): SC says that freedom of choice plans that don’t produce actual racial integration are UnConst

i.  Green suggests that Brown II requires something closer to integration (inequality rationale winning here)

ii. Need to start asking about the distinction btw de jure and de facto segregation and how that plays into what is Const mandated under Brown II b/c Green is suggesting that some amt of de facto segregation (neighborhood seg) going to cause a Const prob

iii. Where res patterns are integrated not so much of a problem b/c can just order school district to use trad neighborhood system to assign schools and that will achieve integration

b. Swann (1971) (460): Neighborhood segregation BUT 1 giant school district that encompasses both inner city and suburbs (what traditionally have in S but not N, W)

i. If Brown only says that de jure seg is unConst then all SC can do is recreate a school system as if there had never be de jure seg → prob is if there had been no de jure seg than world would still look like it did, with res housing segregation and neighborhood schools and no integration

ii. SC says 2 things that are hard to reconcile

(a) The only thing that is unConst under Brown is de jure segregation

(b) BUT once de jure segregation has been shown than schools in that district have to be integrated

(1) Uses presumption → where P has proved seg on the part of the SD then are allowed to presume that all the de facto (res) seg in the SD is result of the Brown de jure violations

(2) So if show de jure seg (which is a definite Const violation under Brown) then get remedy for both de sure and de facto (which we aren’t sure is a Const violation)

iii. How to reconcile Swann

(a) Say that Brown does apply to de facto seg 

(1) This would raise state action concern bc once go beyond intentional acts of school boards then there are a lot of other things that were clearly state action and de jure seg that contributed to the res seg

· Slavery (state action)→ wealth differentials → poor neighborhoods

· State enforced racial covenants, zoning discrim (state action) → res seg

· Fed gov’t subsidy program, highway building → res seg

· Seg laws → shape private prefs → res seg

(2) Practical implications

· Lose political support

· No logical line of where to stop up to reparations for slavery

(b) Argue there is empirical truth to the presumption → that res segregation is a result of school seg b/c parents want to live close to the schools their kids go to

(1) There might be some truth to this, but housing patterns in N show that there would be res seg whether or not there was de jure school seg

(c) Can’t really justify what SC is trying to do so fact of past de jure seg is critical 
3. Keyes &  Milliken

a. Keyes (1973) (461)

i. Denver SD with no seg laws, but find de jure seg bc drew attendance zones around some schools to avoid integration, so apply Swann presumption and say that have to bus the entire SD

ii. Powell opinion

(a) Says that we understand that de facto seg is bothering us and the cts goal is integration NOT desegregation so should just come out and say Const violation until schools become integrated

(b) Thinking 2 things here

(1) Busing unfair to S b/c N didn’t have de jure laws but had seg, so opinions have created world where S has Const obligation to integrate and N doesn’t

(2) Busing is stupid and that if N is required to bus than any political support for it will disappear and busing requirement go away

· This is exactly what the effect of Keyes is

b. Milliken v. Bradley (1974) (466)

i. Facts: Detroit inner city all blacks, suburbs all white, but are separate SD’s, district judge finds de jure in Detroit but NOT in Gross Pointe but in order to get integration orders busing that involves both SD’s

ii. SC decides that only the kids living in the SD where there was de jure seg are subject to busing

(a) SC is deciding that not going to open up scope of Const violation to include anything other than de jure seg

(b) Marshall → says this is not a product of neutral principles of law, is product of political resistance to busing (BUT Brown wasn’t product of neutral principles of law either)

c. Combo of Swann/Keys and Milliken

i. Worst possible social policy b/c maximizes segregation of public schools

(a) Swann/Keyes requires busing in cities → drive out whites

(b) Milliken gives them a safe place to go

ii. DJ’s started to come to view that maybe busing not good idea from edu standpoint, so order remedy of increased funding for city schools → SC upholds these orders in 70’s and 80’s

d. Missouri v. Jenkens (467) (1995)

i. DJ orders tax inc to pay for remedying bad schools in SD where had de jure seg → 2 rationales for doing this

(a) Create magnet schools → which might get white kids back in city

(b) Betters schools will improve edu of black kids

ii. SC rejects both of these rationales

(a) Trying to get white kids back in cities violates Milliken

(b) Bad schools today not results of segregation 

(1) Presumptions no longer as powerful b/c can’t say that de jure seg 40 years ago created bad schools today (de jure seg created dual SD’s, these are now unitary SD’s)
e. Dowell (1991) (468)

i. When supervision by cts should end

(a) SD has been in good faith compliance with DC plan of reasonable period of time; AND

(1) no def on reasonable time

(b) Vestiges of de jure seg have been eliminated to the extent practicable

(1) What does this mean?

4. Take home: Brown is relied on by the ct for legitimacy of JR (Brown was right and we did a good thing) BUT Brown hasn’t solved problem of segregation, might have made it worse → so we need to ask if ct is good at enunciating fine moral principles but not making world a better place OR even if they are good at enunciating moral principle (brown was vague) → SC not good at effectuating social change
E. Race-specific classifications and heightened scrutiny (499-514)
1. Racial Classifications Generally
a. Gen rule (Korematsu): Racial classifications that disadvantage minority groups that are suspect class under EPC are subject to strict scrutiny and going to get struck down

b. Strict scrutiny v. rationality review

i. Purpose

(a) Strict scrutiny: Compelling gov’t interest

(b) Rationality review: Legitimate gov’t interest

ii. Fit

(a) SS: Necessary or narrowly tailored

(b) RR: Rationally related

iii. In practice

(a) SS → going to strike down

(1) Are some examples of where SC would uphold law under SS

· Temporarily separating prisoners by race when they first enter prison by race in order to make indiv assessment of inclination towards violence over race (9th Cir upheld this)

· Gov’t purpose is to prevent violence in prison and this is narrowly tailored to achieve this and one group isn’t being disadvantaged (same conditions)

(b) RR → going to uphold

c. Why does race get SS?

i. Mech interpretation of original understanding of 14A

(a) Bad argument b/c 14A only applied to blacks and only applied to civil rights

(b) Case like Strauder (499) is ok under this theory b/c it applies to civ right of ct access which was discriminated b/c black D and all-white jury

(1) If Strauder had been brought by black who was denied jury service than NOT defensible under original understanding of 14A

(c) Can’t get to Korematsu under this rationale b/c 14A applies only to blacks → under original understanding of 14A not going to treat national origin the same as race
ii. Empirical presumption that classifications based on race are irrational

(a) Counterargument

(1) Race correlates empirically (narrowly) with thing that gov’t does have compelling interest in regulating → blacks and crime

(2) Race is immutable characteristic but that doesn’t justify their special status under EPC b/c religion gets it to and religion is mutable and other classifications that get RR that are immutable (being blind)

iii. Moral reading of EPC

(a) Anti-discrim principle (506): Prohibition against racial classifications rests on fundamental moral values → there is fund moral value that can’t disadvantage based on race (today at least)

(b) Counterargument

(1) If admit that judges making moral judgment than have counter-majoritarian problem

(2) Judges better at figuring out consensus on moral principle (judges as anthropologists under the common law?) → probably not, consensus is that leg is probably better at this
2.  Heightened Scrutiny during times of Crisis

a. Korematsu (501) (SC 1944)

i. Gov’t announces SS for racial classifications but applies rationality review to exec order about internment and finds that it OK even though the fit is terrible b/c is both under/over inclusive → you are interning loyal Japanese with deciding if they are disloyal and not interning Germans/Italians that could be disloyal (doesn’t even talk about purpose which would also have a heard time justifying)

(a) Endo: Companion case that says unConst to hold in internment once gov’t has decided they → SC says have to let go b/c exec order says only for limited time → so keeping them now is beyond C mandate (Youngstown 3) → doesn’t rule on EPC so consistent with Korematsu
ii. Black opinion

(a) Prez makes exec order than gets C sanction → Youngstown category 1

(b) Basically not going to question prez under war

iii. Jackson dissent

(a) SC shouldn’t be interpreting exec order or its Const during wartime b/c during wartime SC is going to act like a political institution (not going to stand up to prez) and don’t want to give Const sanction to actions which under peacetime would clearly be in violation of EPC, DP

(1) WE should just recognize that Prez is going to step outside Const bounds when he feels like he has to and better to let him do that w/out any Const review than giving him a Const sanction

(2) Limits of JR

· Even if SC were to stand up to Prez → order not going to get enforced, so are just going to be undermining power of SC, legitimacy of Prez and Const

· During wartime, esp if doing moral reading of EPC which is only rationale to get to EPC as we know it, then justices going to feel differently

(b) During times of crisis SC/country don’t maintain their commitment to Const ideals

(1) Korematsu

(2) SC during Civil War

(3) Cold War → Dennis v. US (1951) → upholding crim prosecution of communist leaders for criticizing gov’t

(4) ACLU didn’t support petitioners in Korematsu or Cold War

(c) After crisis over, we feel bad and change our minds, for legit of SC and Const just should take these cases

b. Theoretical debate about these decisions

i. Civil libertarian argument: Const is pre-commitment to certain goals and most imp to uphold during wartime

(a) This argument rests on assumption that decision made during peace time about Const rights was rights → no real basis to think that

ii. Counterargument: We underestimated threat during peacetime and wartime is when we make better decisions about civil rights

(a) If we hadn’t acted the way we did then we would have lost (in Civil war, in WWII, in Cold War)

c. Take-home: There is no way to decide which argument is right b/c depends on retrospective view of history which could be legitimized either way BUT imp thing is that we sort of learn our lesson, after Civil War didn’t suspend habeas corpus, after WWII didn’t intern people, after Cold War more careful of suppression of free speech (Vietnam) → so we are one-by-one deciding which rights are so imp that can’t go near them during wartime (need SC review during and after suspension of rights in order to do this?? → maybe) → Problem is what if we were right to intern Japanese, if there is another terrorist attack, possible we would intern Arab-Americans??
F. Carolene Products n. 4:
1. Structure of Process Theory
a. After Scott SC had problem with legitimacy, so swung 100% in opposite direction to Lochner era (total freedom of K and labor), after SC capitulates to gov’t regulation again have legitimacy problem b/c at end of Lochner era SC looks like it is only applying its value judgment, so comes up with process theory in FN 4 of Carolene Products as basis for JR

b. Process theory = JR legit b/c fixing malfunctions in political process (so no counter-maj problem)

i. Paragraph 1: Mech interpretation

(a) Whenever possible do mech interpretation of Const → then have Hamilton/Marshall legit

(b) Problem is that can’t do mech interpretation under DP or EP → so no good for most sub rights

ii. Paragraph 2: Access prong
(a) Legit for ct to intervene to laws that restrict political processes → voting, political speech, assembly

(b) 2 things that ct could do to remedy restriction on political process

(1) Treat disease directly: strike down laws (voting laws)

(2) Treat symptoms: Strike down laws that disadvantage the grp that’s political access was restricted (seg laws)

(c) This is really good argument for JR b/c solves basic counter-maj problem b/c when SC strikes down law from leg that was formed based on a restricted political process that not really acting counter-majoritarianly

(1) Problem → SC has to have conception of what a well-functioning dem is → which groups is it okay to dis-enfranchise and which is it not 

· Kids disenfranchised but no one thinks this is political process failure

· Felony disenfranchisement → this might be better case

· Jim Crow seg → good case

(2) Access prong might get you to Brown decision (seg laws unConst) at least in states where over 50% blacks and segregation → but doesn’t really get you there in other states and doesn’t help you with segregation today → in order to get to that under EPC requires moral judgment 

(d) Once disenfranchisement ends this prong isn’t really helpful (exception is rare cases of political speech where it is)

iii. Paragraph 3: Discrete and insular minorities

(a) Political process can be distorted by subtle disadvantages that some groups will confront in political process that will make them get less than their fair share in some systematic way

(1) B/c of certain characteristics can’t lobby, organize well enough to get their fair share out of process

(b) Which groups aren’t getting their fair share?

(1) Those susceptible to prejudice; AND

(2) Grps that have characteristic features of being discrete and insular

· Discrete = Grp membership is obvious to outside grps and difficult to hide (women, blacks)

· Insular = Grp is internally cohesive, they have multiple interactions w/one another across various spheres of social/political life but have limited interactions with people outside of group
2. Criticism of Process Theory (Prong 3)→ Ackerman
a. Prejudice

i. No good way to distinguish prejudice from policy making

ii. In majoritarian system, minority policy prefs going to lose and that ≠ prejudice

b. Discrete/insular: Ackerman makes argument that discreteness/insularity are advantages not disadvantages and that Carolene has it backwards

i. Advantages of being insular

(a) Better organized b/c are already organized socially so org costs lower

(b) Have already overcome free-rider problem b/c existing social networks

ii. Advantages of being discrete

(a) If discrete no exit option → so either exercise voice against discrim or live with it

iii. If want to protect grps that are losers in political process protects group that are dispersed and anonymous (homosexuals maybe)

c. Take home: Process theory as justification for racial groups getting SS not very good, still have to make moral/substantive judgments if want EPC to protect blacks 
G. Discrimination: Effect or Purpose?

1. Facial neutrality and strict scrutiny

a. If statute says nothing about race but has the purpose/effect of discriminating based on race.

i. If the purpose is to discriminate then it has to violate EPC otherwise this would be an invitation for Leg to just not mention race, but purposefully discriminate.  

ii. Keyes – The Ct read the law to be the same as if the school board said race directly

b. Gwynn: facial v. non-facial discrim doesn’t matter both violate EPC (invalidating literacy test for voting)

2. Is EPC about effects or purpose?

a. Process

i. No Const violation if gov’t doesn’t take acct of race → even if disparate impact on racial minority

ii. Const law cares about de jure NOT de facto seg

iii. EPC/ Const law are directed at the behavior of gov’t

b. Effects
i. EPC not about procedural is about substantive fate of minority groups
ii. Even if effects are accidental and gov’t acting w/no discrim purpose have Const violation

iii. EPC/Const law directed at the protection of indiv rights

c. Brown and school deseg cases 

i. 2 reasons for Brown seems to show ct is conflicted about which way to go with EPC

(a) Stigma → Process

(b) Educational disadvantage → Effects

ii. School cases up to Milliken seem to say gov’t responsible for all seg in schools even if it being racially neutral 

iii. Milliken and beyond see a process argument

d. Washington v. Davis (SC 1976) (514)
i. Statute requiring literacy test for DC police force (which is mostly white) where blacks fail in much higher numbers then whites leaving force to be mostly white in mostly black city. No evidence that it was motivated by race, it came out of a race-neutral political process and it just happens that the burdens fall on racial minorities.
ii. Davis says that it is process not results that matters.
(a) If show process discrimination ( then Const violation
(b) If show results discrimination (disparate racial impact) ( no Const problem
(c) So the EPC is about process, not results.  
(d) If you want to show a violation of the EPC have to show
(1) Race included on face of the statute; OR
(2) If statute is racially neutral have to show gov’t had racial purpose in mind.
iii. White’s argument (maj opinion) → Slippery slope argument against Const violation for disparate impact
(a) Tax code, college admissions, crim laws all have disparate impact

(b) No logical stopping point for what are going to hold gov’t responsible for  b/c there is a baseline inequality btw the races so every law going to have a disparate impact → what remedy is going to be good enough short of total wealth redistribution?
e. Problems with the effects argument

i. Alexander argument (516) → gov’t not responsible for every unfair inequality (i.e. neurosurgeon whose hand mangled in car accident with drunk → gov’t not responsible for this)

ii. Effects are complicated → need to net them out

(a) Effects are complicated and unpredictable and hard to quantify

(b) Are going to have to net out → some of the results are going to be good for blacks (better educated police force) while some bad (less blacks on police for) → which forces ct to do CBA which they are bad at and which requires them to make value judgments which poses a counter-majoritarian problem

iii. Counterargument: Gov’t might bear some responsibility for the baseline inequity.  Maybe the reason that blacks are disproportionately failing the test is because the schools in DC were racially segregated and materially unequal.  This is a state action problem.  
(a) If this is true then the gov’t cannot say that being black is the same as a neurosurgeon having his hand mangled by a drunk driver.  The gov’t is not the unwitting patient who has to accept the bad doctor.  The gov’t would be more like the barkeep who served the drunk driver, and then has to go in for surgery.  
(b) Maybe should hold gov’t liable to some extent to not exacerbate baseline racial inequalities that it helped to create
(1) This argument runs right into slippery slope and remedy → do we want to Const require gov’t to build some sort of AA into every law passed to make up for racial inequality → that is a heavy burden and one we may not want b/c violates other Const/federalism principles

f. Davis much more important than Brown in Const law

i.  Blacks can be disadvantaged along every line of social welfare and Davis says that gov’t is ok if it acts neutrally by ignoring the baseline difference between blacks and whites
(a) Compare Davis and Plessy

(1) Davis ( gov’t neutral when test interacts with racial inequality to produce very few cops (disparate impact)
(2) Plessy ( gov’t cannot touch upon social dynamic of racism (only civil and political).  So the gov’t is acting neutrally because it cannot remedy the harm of social segregation laws that occur in the private sphere. 

(3) In both cases SC is saying that neutral law interacts with private racial inequality to produce black disadvantage but that it is NOT a Const problem
(b) School segregation under Davis would mean that a neutral school policy interacts with residential segregation (baseline inequality) to produce segregated schools.  No Const problem.  

(c) Shelley v. Kramer (SC 1948) (1518)
(1) State enforcement (via judges) of private racial covenants count as an EPC violation
(2) Under Washington there would be no Const violation b/c is neutral enforcement of neutral K law
(d) Take home: Const violation depends on public/private distinction and Davis decides that baseline racial inequalities are private and thus gov’t not responsible
ii. Davis is the road not taken → what if EPC did have something to say about racial inequality?
(a) Can always question the neutral part – if gov’t knows and understands that the effects will be disparate is it really acting neutrally?
(b) Underlying inequality is not private – gov’t action causes the racial stigma and exacerbates the distinctions/prejudice
3. Application of Washington v. Davis

a. If we have decided on purpose then need to ask question what is a discriminatory purpose 
i. Stevens concurrence in Davis: 
(a) Impossible to get at subjective state of mid of leg (or even one Cman) → forget about subjective intent
(b) Have to use objective intent test: Is there a plausible non-racial reading?  If not then they are going to attribute a racial purpose to the legislature.  

(1) If DC uses zip codes to pick police officers → no reason to do this other than racial so is a dicrim purpose

ii. There are some cases where there is a hugely disparate impact, and nevertheless there is a valid, race neutral explanation
(a) Personnel Administrator v. Feeney (529): veteran’s got preference for civil servant jobs, 98% of which were men.  When legislature passes this law it understands the huge disparate impact; but EPC violations require more than mere awareness, have to have pass the law in furtherance of discrimination, not merely in spite of it.  Here clearly just wanted to benefit veterans, not discriminate against women.  
(b) Idea of purpose is to distinguish cases where legislature would have passed the law even if it didn’t pay attn to race/gender.  
(1) Don’t look at world from counter-factual perspective b/c everything would change and that is useless
(2) Have to hold everything else constant and ask is it plausible that leg would want to do this for non-racial reason (like benefiting veterans)

b. Cases

i. Yick Wo v. Hopkins (p.519) (SC 1886)
(a) Can’t operate laundry in wood building w/o a permit.  Chinese cannot get such a permit, whereas every white person who applies can.  There is an arguable facially neutral purpose for the law – don’t start fires.

(b) But there is no plausible theory why all the Chinese get turned down other than because there are Chinese.  This law, as it is applied, violates the EPC.  If whites and Chinese were equally granted permits, the law would be fine.

ii. Gomillion (p.521) (1960)
(a) Alabama statute that redraws a border from a natural square shape to a weird 28 sided figure.  The effect of the redrawing of the boundary is to exclude every black voter from the city.  

(b) No conceivable race neutral reason for this, so strike it down without further showing of purpose.  

(1) It would be a diff case if the boundary had always been like that or if natural boundaries forced it to be drawn in such a way.  

iii. Village of Arlington Heights (SC 1977) (523)
(a) Developer wants to build low-income housing and is denied permit.  He believes that this is because the city doesn’t want low-income housing in its neighborhood.  

(b) Ct accepts the town’s race-neutral explanation that it wants to preserve the town as being of single-family homes.  Much harder in this case for Ps to prove purpose than in Yick Wo b/c there is no pattern here 

(1) Powell opinion, not impossible to prove on effects alone but need effects + historical background, pattern, departure from procedural norms

(2) Look at employment discrim + AA cases → more about effects than purpose → tension in the la

iv. Hunter v. Underwood (p.521) (SC 1985)
(a) Alabama statute that disenfranchises people convicted of a crime of moral turpitude.  P’s prove severely disparate impact. 
(b) Ct says that disparate impact not enough.  But P’s show that one of the purposes for passing the statute in 1901 was to disenfranchise blacks so this is a disparate impact + case.  It violates EPC
(1) For EPC violation racial discrim needs only be a but for cause of statute, doesn’t matter that it took into acct other factors → Mt. Healthy causation rule (522)
v. Statute with a racial purpose but no disparate impact

(a) Palmer v. Thompson (521) (SC 19710

(1) Miss schools closes in response to ct order to integrate

(2) Ct upholds b/c racial purpose BUT no disparate impact

(3) This case can’t be reconciled with Griffin

vi. Statute where racial purpose is written onto face of statute, but equal effects

(a) Loving v. Virginia (533) → SC strikes down anti-miscegenation law that bans interracial marriage b/c law is racially symmetrical on its face but everyone understands its stigmatic effect

(b) This argument was made in Brown but ct ignored b/c stigmatic effect → tension b/c stigmatic effect more about effects 

(c) What about where stigmatic harm not obvious? Palmore v. Sidoti (1984) (513)

(1) Trans-racial adoption, custody battle btw divorced parents, mom gets custody and marries black man, lower ct said going to reassign custody b/c not in best interest of child to live in interracial marriage household

(2) SC unanimously reverses and says unConst to reverse custody arrangement based on interracial marriage

(3) Take home: It show racial purpose = EPC violation don’t need to ask about disparate impact or stigma

· If this had been standard under Brown, than Brown an easy case

· If this is standard → AA seems unConst

4. Evolution of how ct thinks about effects of seemingly race neutral laws

i. Plessy → stigmatic effects but are private and don’t count as Const violation

ii. Brown → stigmatic effects from formally neutral law count as Const violation

iii. Palmer → don’t ask about effects, if gov’t is taking race into account than unConst → colorblindness view (gov’t obligation is to ignore race)
H. Race-based Affirmative Action

1. Theory

a. Does EPC mandate gov’t neutrality

i. Original understanding

(a) No one thought that 14A would prevent gov’t from helping blacks (historical evid to the contrary b/c Reconstruction C did quasi AA things)

ii. Moral reading → depends on level of generality

(a) Specific level: EPC about protecting and helping blacks → then AA is okay

(b) General level: EPC is about no unequal treatment on basis of race → AA unConst

iii. Process theory

(a) White majority passing AA laws to class that has had systematic unfair advantage → OK

(b) City of Richmond v. Croson (1989) (557)

(1) Process theory doesn’t support invalidating this law b/c it disadvantages white contractors who have not had a systematic unfair disadvantage in political system

(c) AA okay because blacks have been systematically unfairly advantaged

iv. EPC purpose focus

(a) AA NOT Const b/c gov’t race consciousness is violation even if designed to help

b. Possible EPC rules

i. Anti-classification: Color-blindness
(a) Gov’t not allowed to take into account race at all, for any purpose (good or bad)
(b) AA unConst

(c) Effects of laws are irrelevant under EPC

ii. Anti-discrimination
(a) What is forbidden under EPC is gov’t purposefully using race to disadvantage blacks 

(b) SC cares about purpose + bad effects

(c) AA okay

iii. Anti-subordination
(a) EPC should be concerned about remedying the baseline racial inequalities

(b) Const required to have AA

(c) Every time gov’t passes law have to do micro AA analysis to make sure no disparate impact → only care about effects, purpose is irrelevant

iv. Thomas concurrence in Aderrand (1995) (574) 

(a) Anti-classification and anti-discrimination of collapse into each other b/c AA creates stigmatic harm (teaches society that minorities can’t compete successfully on their own

(1) This is an empirical claim about the world that can’t be proven → he can’t prove that AA makes society think this way

(2) This is more of a CBA of material benefits of AA against the stigmatic harms and he thinks that the stigmatic harms outweigh

(b) 3 major ambiguities in this argument

(1) Counter-intuitive b/c if anyone should do CBA it is blacks and opinion polls show that they favor AA

(2) Stigmatic harm makes society as a whole worse so this isn’t really about EPC (this criticism is that original understanding of EPC based on making life better for blacks not making society colorblind)

(3) Need strict scrutiny to tell if classification is malignant → this is policy/prejudice distinction → one person calls it justifiable policy the other calls it prejudice  
2. Educational Context

a. Bakke (1978) (553)

i. Question is which form of scrutiny to apply to AA cases

(a) 4 liberal justices want to apply intermediate scrutiny

(1) AA going to be OK if reasonably related to important gov’t purpose

(2) Imp gov’t purpose is making of for past public discrimination by any actor any level over the course of American history so any member of a minority group has presumptively been the victim of societal discrimination

(b) 4 conservative justices → colorblindness under Title 6 of CRA 

ii. Powell is swing vote and establishes the doctrinal framework for evaluating AA programs 

(a) Step 1: Strict scrutiny has to be applied to every racial classification even ones described as AA

(b) Only 2 compelling gov’t purposes will suffice to call program narrowly tailored

(1) Remedy of specific instance of discrimination by institution or within the juris maintaining the institution

(2) Diversity of student body

(c) Quota is not allowed → have to use race as plus factor

iii. Note: Bakke test is for inclusive AA programs, exclusive AA programs get SS and struck down

b. Grudder/Gratz (2003)

i. B/c Bakke was plurality opinion no real binding precedent on AA in affirmative context (people though that Aderrand going to control) BUT SC officially affirms Bakke’s opinion 

ii. O’Connor opinion
(a) Diversity an okay gov’t interest as long as fit is right 

(1) Have to do indiv, holistic review (like Law school) and not give race any numerical quantity (like undergrad) 

· Prob is what law school is doing is same thing as a quota with nods and wins

· BUT O’Connor thinks the nods and winks are really important to colorblindness theory b/c the more you can blur the stigmatic harm the less harm you inflict and the material benefits outweigh the stigmatic harm

(b) 2 ideas that swing O’Connor

(1) If goal is colorblindness (cross-racial understanding) then need to expose people to different racial backgrounds and education is better place to do that than employment

· Scalia response: Nothing special about universities, if want cross-racial understanding start at boy scouts

(2) Laws produce disproportionate amt of nations elite and if want to make elite legit than paths need to be visibly open to every race

· Incentive effect (visibility): Minorities have higher aspirations if see minorities in elite

· If want people to buy into system (not rebel against it) then need to convince them they are part of it → aesthetic appearance of a few minorities in legit institutions allows us to present our control over society as legitimate in a way that it might not if people (minorities) felt they had no shot of being part of system

iii. Thomas dissent

(a) Racial classifications are per se harmful

(b) AA is for benefits of white elite (conspiracy to keep us subjugated) and we don’t want their help

(c) If Mich so concerned with diversity just admit more state applicants → Mich wants to have diversity and be elite
3. Non-Educational Context (Employment)
a. Through 1980’s gen pattern was to uphold based on general interest of remedying general past discrimination

b. Crosen, Aderrand → ct leans more towards colorblindness principle

i. Both are gov’t based programs that provide prefs for minority contractors

ii. O’Connor writes both opinions and says SS not fatal in fact and room for AA in employment to pass SS if

(a) Compelling interest

(1) Diversity NOT a compelling interest in employment context

(2) Remedial justification OK but has to be specific, identifiable past discrim

· Private discrim can count b/c gov’t is responsible for any discrim within boundaries of juris (against these specific P’s)

· General discrim not enough b/c could be lots of reasons why minorities discriminated in this context → not just going to look at number and presume the reason for a large gap btw minorities and whites is discrimination → gov’t not responsible for baseline inequalities arguments

(b) It is narrowly tailored = well defined

(1) Croson gets struck down b/c has no concern for trying to match up beneficiaries and victims → she seems to be saying need to at least make cursory effort to do this

iii. Why remedial OK and not diversity?

(a) Historical reasons → 1st context to deal with race conscious remedy was schools

(b) Pragmatic historical reasons: There is a finite temporal limit on the remedial justification while the diversity justification could go on forever

(c) Remedial justification doesn’t create stigmatic harm (Thomas argument in Aderrand)

(1) Are just recreating the playing field

(2) Treating people as individuals doesn’t send same stigmatic, race conscious message as broad AA programs → all indiv in the group are equally disadvantaged and in need of gov’t help

iv. Scalia argument AA is worthless

(a) Any group based AA going to have some degree of mismatch btw victims and bens and this violates EPC

(1) This is distinguished from non-racial classifications b/c not worried about group essentialism in non-racial context → OK to discrim against methadone users as a group NOT okay to discrim against blacks as a group 
(2) If can make specific showing of indiv discrimination than can get same remedy in ct and don’t need AA

v. Counterarguments to decision in Aderrand, Croson

(a) Ct allows subsidies of small bus (minority) and 10% plan in Texas → so allow leg’s to get around these decisions → form over substance → race neutral aa that has the effect of benefiting minorities OK, but race specific AA with same effects not okay

(1) The reason we allow these is b/c could imagine a race neutral context why the leg would pass this law even if know what the real reason is (this is like standard RR of econ leg → make leg come up with nice-sounding purpose than rubber stamp)
VI. Equal Protection III: Extending the Paradigm to Gender

A. Gender Classifications I: Illegitimate Stereotypes

1. Theory

a. Why should heightened scrutiny be applied to gender?


i. Original understanding → NO b/c original understanding was that 14A only applied to blacks

(a) Women’s status at common law

(1) Civil rights

· Single women had prop, K, ct access rights

· Married women had no civil rights → viewed as entity with husband and he had all the rights

(2) Political rights: NONE

ii. Process theory? → NO

(a) Para 2: After 19A no disenfranchisement

(b) Para 3: 

(1) Women are discrete but not insular and not a minority b/c make up 50% or more

(2) Systematic disadvantages → not really

· Inc numbers in power

· Problem with argument that political process is biased against women is that when women get in office and when they vote they don’t necessarily support leg that would lead to empowerment under feminist theory

· McKinnon argument: False consciousness → women have been socialized by men to not recognize their own best interest and participate in political process in ways that are adverse to their own best interest → while this argument may be true it has nothing to do with process theory, is more of an argument about why democracy fails (Marx made this argument)
iii. Gov’t unjust to women in same way that are unjust to men so by analogy women should get EPC protection

(a) This argument works at high level of generality 

(b) Lower level of abstraction: Similarities between minorities and women

(1) Process theory analogy 

· Doesn’t work b/c women not a minority AND ct became involved in gender protection after women were fully enfranchised and active participants in politics

(2) Immutable characteristic analogy

· This argument doesn’t in deciding who gets EPC protection and who doesn’t b/c there are some groups with immutable characteristics (like physically, mentally disabled) that don’t get EPC protection and there are some groups with mutable characteristics (religions) that do get EPC protection

(3) Race/Sex alike because is a immutable characteristic that bears no relationship to performance so you shouldn’t be able to legislate on this

· This requires a value judgment that statistical evidence that correlates gender/race with propensity to certain things is irrelevant

iv. EPC about getting rid of stereotypes

(a) 2 types of stereotypes

(1) Generalization based on probabilities → so it’s not true as applied to everyone but is true as applied to group as a whole; OR

(2) Inaccurate stereotypes

(b) Reason we don’t allow stereotypes under EPC could be

(1) The classification could be statistically accurate but there are a few members of the group that stereotype doesn’t apply to and we have to protect their indiv rights; OR

(2) No correlation at all between stereotype and reality; OR

(3) Statistical correlation does exit BUT it is such a bad proxy that we aren’t going to use it

(c) SC has said that stat generations don’t matter → can’t use stereotypes AT ALL

(1) SC has gender utopia vision (analogy to colorblindness vision) where all gender differences are ignored

(2) Both gender utopia/colorblindness visions are assimilationist BUT gender utopia does make allowance for a few “natural” difference (based on pregnancy or physiology) btw the sexes (what about cultural difference in race?)

· With gender as compared to race SC is picking and choosing which differences are OK to classify around and which aren’t → harder to predict cases

b. Structure of gender EPC
i. By the time ct gets involved with gender EPC already at Washington v. Davis in race EPC so just parallels that and says that are going to strike down any gender class irrespective of whether it burdens/benefits women b/c want to do away with stigmatic harm (stereotyping) of sending message of different roles for men/women

(a) Exceptions to race EPC parallel

(1) AA → ct has been a little more generous for remedial gender AA

(2) Natural differences → OK for gov’t to classify based on gender if classification involves a natural difference

ii. Doctrinal

(a) Reed v. Reed (1971) (404): Ct strikes down gender classification, says it is doing rationality review but is really doing heightened scrutiny w/out saying it

(b) Conclusive presumptions based on gender

(1) Stanley v. Illinois (1972) (600): Ct struck down conclusive presumption that unwed fathers were unfit

(2) Cleveland Board of Education v. LaFleur (1974) (600): No conclusive presumption of inability to teach when pregnant

(3) Weinberger: Ct said can’t use conclusive presumptions

(c) Need to get rid of archaic stereotypes: Weinberger v. Wiesenfeld (1975) (600): Frontiero stands for proposition that gender classifications based on archaic and overbroad generalization are unConst

(d) Craig v. Boren (1976) (602)

(1) Gender classifications get intermediate scrutiny

· More than RR, less than SS

· Classification must be “substantially” related to an “important” gov’t interest (contract SS where classification has to be narrowly tailored to a compelling gov’t interest and RR where classification needs to be rationally related to a legitimate gov’t interest that)

(2) In practice

· RR → all classifications pass

· SS → No classifications pass

· Intermediate scrutiny → some pass, some don’t

(3) Important gov’t interest that pass intermediate scrutiny

· Remedial AA: Some gender classifications are upheld on theory that are economically/materially advantageous to women b/c are making up for some past harm → Schlesinger v. Ballard (1975) (601): Ct upholds fed statute giving women more time to get mandatory promotion

· Natural differences: Some gender classifications based on pregnancy OK → Gedulig v. Aiello (1974) (601) → SC says okay to exclude pregnancy related disabilities from State’s disability insurance program b/c aren’t discriminating based on gender, are just excluding one physical condition

· If doesn’t fit into one of two above categories than not OK

(e) Washington v. Davis Rule applied

(1) Have to show leg was purposefully acting with gender in mind to show EPC violation

(2) Even if have gender neutral law not OK under EPC if motivated by a gender purpose

(3) There is baseline inequality for women like there is for minorities → gov’t not responsible and can ignore it or exacerbate it without violating EPC

(4) Same reasons would want EPC to be anti-discrimination rule as opposed to anti-classification rule apply in gender
2. Cases: Trying to figure out when SC going to strike down

a. Bradwell v. Illinois (SC 1873) (596)

i. Rejects challenge to Illinois law banning women from practicing law

ii. Bradley concurrence (p. 597) based on natural delicacy of female and idea that there are 2 spheres in life, one outside the home that belongs to the man and one inside the home that belongs to the women → this is the idea that the court is trying to get rid of in gender EPC, BUT need to ask question that in trying to get rid of this rule are we disadvantaging women?, these stereotypes persist, so maybe role of gov’t isn’t to say that there is Const rule for not having them? 
b. Frontiero v. Richardson (1973) (598)
i. Ct invalidates a rule that requires women in the military to prove their husbands are dependent on them before they get spousal benefits (men don’t have to prove that wives are dependent on them, it is presumed)

ii. SC says can’t have this classification b/c it is based on the illegitimate stereotype that women are economically dependent on husband

(a) DOES NOT matter that it is statistically true → is unConst

(b) same argument as AA in race context, short-term material benefits, long-term stigmatic harm

(c) This is a stereotype that is true in general for women, but there are specific women that it is not true for so get rid of it even though as a whole it is advantageous for women
c. Orr v. Orr (1979) (609)

i. Alabama statute that say that divorced husbands have to pay alimony, not divorced wives

ii. Ct strikes down b/c is based on illegitimate family structure (again stat accuracy doesn’t matter)

iii. This cases looks more like EPC for men → to get to women under 14A is a stretch, to get to men is much harder

d. Hogan (1982) (608)

i. SC strikes down exclusion of men from nursing school as violating EPC b/c perpetuates stereotype of nursing as a women’s profession
e. Craig v. Boren (1976) (602)
i. Announces intermediate scrutiny

ii. Ct says doesn’t care about gender correlation all we care about is getting rid of stereotypes

(a) Brennan → stat evidence is biased b/c social reality and legal rule are connected (contra Plessy) → this is circular reasoning, just getting rid of law not going to get rid of stereotype, is ridiculous on minute level, if think of macro level then maybe not so ridiculous

f. JEV v. Alabama (1994) (619)

i. Can’t make preemptory challenges based on women

ii. O’Connor concurrence: Gender does make a difference in fact → she sort of hints that she thinks that preemptory challenges based on gender in different context would be OK → there are natural differences, women always going to act different, not going to get rid of that through law so maybe we should take into act these differences

g. Take home: about stereotypes/gender blindness

i. Ct focused on generalization itself, just the fact that it was made is enough for Const violation, doesn’t matter if its accurate, if it is accurate the goal is to change that stereotype

ii. Doesn’t care about immediate harm to women

iii. Men/women/whites/blacks should all be treated alike → Most appropriate stance for gov’t is to treat everyone alike even if they are similarly situated (perpetuate status quo)

iv. Limitations to gender-blindness approach

(a) Need to ask whether this is a good way to go about protecting → most statutes that get struck down are benefits for women
(b) Gender difference not going to be ignored based on SC command
B. Gender Classifications II: 

1. Affirmative Action

a. Califano v. Goldfarb (1977) (627) v. Califano v. Webster (1977) (632)

i. Goldfarb: SS statute that grants survivor benefits to widows automatically but only grants benefits to widowers would have prove they received 50%+ of their income from wives

(a) SC treats exactly like Frontiero and finds that this is violation of EPC

ii. Webster: SS provision to calculate benefits that allows women to exclude more of their low-wage earning years than men

(a) SC says OK b/c this is remedial AA (making up for discrim in the work place)

(b) If this was about women taking out time from work force to raise kids → it would get struck down

iii. Take home: Need to construe advantage as remedial if want it to be okay under EPC

2. “Natural” Differences

a. Theory
i. SC is willing to accept some differential treatment as long as treatment is based on gender differences that are real, not fake (socially constructed)

ii. 2 places where should be some room for gov’t to make gender based classifications

(a) Physiological differences: There are physiological differences that are relevant, esp pregnancy and those differences aren’t going to go away so OK to classify on them (doesn’t matter if classification hurts or helps women)

(b) Separate bathrooms idea: There are some types of classifications btw genders that are OK and not stigmatizing

b. Cases

i. Gedulig v. Aiello (1974) (601)

(a) Stat insurance program that doesn’t cover pregnancy

(b) Pregnancy is natural difference and therefore when legislature classifies based on it, not unConst under EPC → but baseline of what is “normal” is male body, is that ok?

(c) This decision overruled by pregnancy discrimination act

(1) This statute based more on anti-discrimination rather than anti-classification

(2) Not okay to exclude pregnancy when covering health benefits

ii. Non-marital kids

(a) Set of cases where SC is trying to figure out what they are doing, all involve child born out of wedlock that gives (or denies) mother special priority with respect to that child

(b) EPC problem

(1) If classification based on physiological difference that mom gives birth and father doesn’t → than OK to classify on b/c is natural difference

(2) If classification is based on stereotype that mom going to stick around and be primary caregiver and dad going to split → violates EPC

(c) Miller v. Albright (1988) (622)

iii. Statutory rape laws

(a) Stat rape laws have gender difference written in

(b) Michael M. (1981) (622)

(1) Ct buys state’s argument that gender distinction is justified b/c females under the age of 18 are already deterred from having sex by the threat of pregnancy and males aren’t

(2) Real idea is protecting chastity of young females

(3) Could argue that there is a natural difference based on women’s vulnerability to rape and violence → might be enough under EPC

(4) Women are divided over these laws

· Argument against: Fosters stereotypes we are trying to get rid of, denying women sexual autonomy and granting it to young men

· Argument in favor: Real sexual coercion by men and proving rape is difficult

iv. Draft case: Rostker v. Goldberg (1981) (620)

(a) SC treats military combat exclusion policy as based on natural difference so OK

(b) Fine line between stereotype and natural difference → usually based on value judgment

(1) Analogous to policy/prejudice line in race

v. All these cases go back to question of what is EPC about?

(a) McKinnon argues that should be anti-subordination rule → question should be does it ameliorate or subjugate women

vi. United States v. Virginia (611) (1996) (VMI case)

(a) Ginsburg raises level of review to somewhere between strict scrutiny and intermediate scrutiny
(b) After VMI is there any way to argue for gender only public school?

(1) Focus on the style of the school → something offensive to Ginsburg about VMI perpetuating militaristic ideal of men

(2) Focus on equality of separateness → Rehnquist thinks this is Sweatt v. Painter

(c) 2 problems with VMI

(1) Gender-blindness problem → sends wrong stereotypical message

(2) Anti-discrimination problem → schools not equal in substance

(d) Remedy: Have to get rid of stigmatic message and material inequality

(e) Argument in favor of anti-women policy: Didn’t make this rule to discriminate, made it b/c of adversative method of instruction (can’t have women in that)

(1) This is their Wash. V. Davis rule about purpose besides discrim → ct just doesn’t buy b/c of stereotype problem and material inequality

(2) Highlights problem with Davis → how much do you hold constant and how much do you change? With gender stereotypes really hard b/c world would look totally different
VII. Fundamental Rights I: Origins and Property Rights:. 
A. Intro to Fund DP Rights

1.  Fundamental DP Rights v. EPC

a. EPC is about protecting groups from being disadvantaged relative to other groups

b. DP is about respecting certain indiv rights.

c. Distinction between EP rights and DP rights ends up being a philosophical distinction between liberty (DP) and equality (EP)

i. Equality: Gov’t can’t treat person type B different form person type A

ii. Liberty: Gov’t can’t interfere with entitlement X

iii. Not exclusive can be combined → 1866 CRA - equal access to K, prop, ct access (fund rights)

d. 2 Historical phases of SC enforcement of fund DP rights
a. Economic rights: Lochner → econ liberty, freedom to K, laissez faire (this ends in ’37)
b. Privacy rights: Rights related to contraception, abortion, sodomy, right to die → all are related to sex, marriage, family, death → things that are personal

e. Theories on Const interpretation: Should SC stick to enforcing rights that were enumerated in Const or can it “make up” substantive rights NOT articulated in Const

i. Originalists say NO

ii. Problem with this is that the rights explicit in the Const (free speech, EPC) are explicit in a vague sense

(a) So when ct enforces EP rights not clear that they are doing anything different than when they make up substantive rights under DP

(b) To do either ct has to do something beyond mech interpretation → justices have to use political/value judgments to give substance to the rights

(c) Basically the difference is one in degree or none at all
B. Rise and demise of Lochner

1. Pre-Lochner
a. 2 debates going on in Const history
i. Debate about whether cts should be in the business of making up rights not enumerated in the Const

ii. Whether there are rights in Const that prevent gov’t from interfering in economic rights → takings clause, DP in 5A; DP in 14A; K law generally

(a) Property rights is vague term → can’t do mech interpretation to decide what it means

(b) BUT in limited respects Const touches on econ freedom from gov’t intervention → should enforce the broader natural law right

b. Natural law
i. Natural law = some conception of a right not recorded in Const but which should be imposed as a constraint on gov’t activity → so obvious a law didn’t need to put in Const

(a) People have very different ideas about where this law comes from → God, Social K, moral principles = inherent fault with the argument

(b) Property rights under natural law → gov’t can take from A and give to B

ii. Calder v. Bull (1798) (69): Should cts be able to strike down states not based on Const but on natural law?

(a) YES (Chase): Nat law so obvious that not going to put in Const → redistribution is same as punishing the innocent
(b) NO: (Irdell): There is no fixed standard of natural law and the ablest of men differ
(1) Leg passes law that in opinion of justices on SC violates nat law

(2) If leg is passing this law it doesn’t think it’s violating natural law and natural law NOT written in Const → ct should defer to leg’s opinion of natural law

iii. SC has never relied entirely on natural law to strike down legislation b/c always some textual provision that will violate Const so ct doesn’t have to say it violates nat law

(a) Dred Scott: Argument was made that Missouri compromise violates fund DP prop rights of slaveholders, BUT Taney found that C violated Art 4 of Const instead of having to say that violated fund DP prop right

(1) Dicta in Taney opinion that just compensation NOT enough to compensate taking → idea of natural law, can’t take from A and give to B

iv. Slaughterhouse cases (693) (1873): Dissenting opinion is in favor of econ DP rights

(a) State granting monopoly to one private bus violates Const b/c is state taking from A and giving to B

(1) Bradley: unreasonable, unjust, arbitrary → has to be unConst 

(2) Field: gov’t support of monopolies is per se unConst b/c encroaches on liberty of citizens to acquire property

(b) In Slaughterhouse they were arguing that this right came from privileges and immunities clause → this would be the most intuitive place for sub DP rights to come from but SC says no so cts have just used less intuitive parts of the Const for the same thing

v. 1890’s Dissent in Slaughterhouse wins

(a) Industrial revolution + progressive politics colliding

(b) SC now willing to say that gov’t should stay out of econ relationship under sub DP

(c) Knee-jerk reaction to slavery → total freedom of laissez faire is opposite of slavery, SC shouldn’t have let states support slavery, so shouldn’t let states get involved in econ leg (is reverse of same problem)

(d) Santa Clara County v. Southern Pacific RR (1886) (712): Corporations are persons within the meaning of DP of 14A → opens the door to direct challenges by corporations against gov’t from infringing on their “personal” rights

(e) Minnesota Rate Case (1890) (712): 1st time SC relies directly on DP to invalidate state economic legislation

(f) Smith v. Ames: RR rates must yield a fair return

(g) Allgeyer v. Louisiana (1897): Invalidated a state statute that prohibited any person from issuing insurance on property in the state with companies that had not been admitted to do business in the state under theory of liberty of contract
2. Lochner v. New York (1905) (713)
a. Facts: SC strikes down NY statute setting max work week for bakers b/c says DP embodies a right to economic liberty that prevents states from interfering with private actors to set terms of employment K → labor laws (collective bargaining, yellow-dog K’s, max hours law, min wage laws, overtime laws) → all get struck down b/c ct says they have no other purpose than redistributing wealth which gov’t is not allowed to do

b. 2 schools of thought on why this opinion so bad

i. Institutional concern
(a) Ct is being counter-majoritarian

(b) Subbing its own values/politics for majoritarian will

(c) Point about natural law by Irdell in Calder → natural law is a policy pref and Const doesn’t sanction one way or the other

ii. Sub DP okay but econ right is the wrong right (Sunstein argument)
(a) Lochner based on a fundamental misunderstanding of relationship between gov’t and economy

(b) Ct should make substantive value judgments under DP but needs to be more enlightened about what is good public purpose

(1) Major prob with this argument is that it depends on value judgments about what is good/bad econ redistribution → huge counter-maj problem, prob Const violation b/c that is explicitly C’s job

c. What kind of state econ regulation is permissible?

i. Health measure okay (state acting under police power) (they think Lochner is just matter of favoring bakers union over immigrant bakers w/no union) → so when gov’t is just favoring a politically strong coalition that violates Const

(a) Rationality review with teeth (what Sunstein wants for CC) → asking whether or not we actually believe the public sounding purpose that leg is giving

ii. Holden v. Hardy (1898) (713): Upholds max hour law for underground miners b/c is convinced that law regulating mining really has the health of minors at heart where the ct is not convinced that max hours for bakers is really passed to protect bakers health

iii. 2 kinds

(a) Where employment dangerous and regulation is connected to public health; OR

(b) Type of employee is especially vulnerable to being taken advantage of in bargaining → Muller v. Oregon (720) (1908), upholding max hours for women

(1) Adkins v. Children’s Hospital (724) (1923): Strikes down min age law of women b/c 19A passes so women can now bargain for themselves

d. Holmes dissent (2 ways to read)

i. Institutional critique of Lochner

(a) Ct enforcing a particular view of gov’t relation to economy (that gov’t is not allowed to redistribute wealth for redistribution’s sake, but only when health and safety actually at stake) 

(b) NO reason that this view should be written into Const → not up to SC to enforce 1 particular form of econ theory and that memorialize as being  Const sanctioned

ii. Ct should defer to leg

(a) If leg say they are doing this for public health we should believe them 

(b) There is no Const requirement that legislature be civic republican → pluralist IG politics is completely fine under Const → Const doesn’t sanction either
(1) This is a counter-Sunstein point (he wants rationality review to be upholding laws that are the result civic republican politics and striking down those that are result of pluralist IG politics)

(2) Note: Sunstein’s critique of Lochner was that it had the wrong conception of what civic republicanism should be and it was preventing public spirited leg → doesn’t this just make the point that civic republicanism politics is amorphous concept and means different things based on your value judgments?

e. Sunstein: Lochner comes out of mis-guided conception of what gov’t relationship to market economy is

i. Lochner ct thought that Const required gov’t to be neutral → but had wrong idea of what was neutral

(a) If gov’t does nothing → neutral

(b) If gov’t interferes with outcomes of market by redistributing → gov’t non-neutral

ii. Coppage v. Kansas (1915) (721); Adair v. US (1908) (724)

(a) Says gov’t can’t prohibit yellow dog K’s b/c that is gov’t acting non-neutral b/c are favoring losers in game of life
(b) Analogy to EPC race cases: Gov’t is neutral, private processes create bad results (that workers get screwed b/c are poor) → results are private NOT public gov’t can’t fix

iii. Critiques private/public distinction in regard to wealth disparities

(a) Baseline inequalities in wealth aren’t private b/c gov’t (state action) helped to create 
(1) Don’t have markets if don’t have gov’t → so the inequalities that are created by a market economy involve state action

(2) Common law, corporate law, anti-trust, taxes → lots of state action that creates and sustains market economy

(b) Omission enough to create inequality

(1) Gov’t is responsible for vesting entitlement to A, so when it takes it away and gives it to B is acting equally as non-neutral

(2) B had no Const claim when gov’t gave entitlement to A, so A has no Const claim when gov’t gave entitlement to B

(3) Adkins v. West Coast Hotel (727) (1937)

· Adkins:  Gov’t describes transfer of wealth (min wage) as an exaction (or subsidy that employer is required to give to employee) → entitlement vested with employer and that’s not gov’t fault
· West Coast Hotel: Letting employer keep unconscionable profits (b/c paying too little) = subsidy, so gov’t by NOT acting has imposed an exaction on the employee → entitlement has shifted to employee, since gov’t gave entitlement to employer perfectly OK for them to give it to employee, gov’t acting non-neutral either way
(4) How do you decide who gets entitlement??

· Need a baseline of who is entitled to subsidy in the first place
· Entirely a value/political judgment → does entitlement belong to employer/employee 

· ND: Says that there is no objective way to decide who has property entitlement in a market economy b/c it is a gov’t decision to give entitlement and gov’t decision to take away entitlement → no Const claim for losing party in either case

· Pre-ND: Thought that gov’t had nothing to do with initial entitlement

(5) Omission is Const violation b/c is failure to correct inequality that gov’t was non-neutral in creating
3. Post-Lochner

a. Lochner demise happens as same time as doctrinal revolution in CC

i. Externalist story: Political pressure that SC was facing as result of super-majority being in favor of econ regulation and they buckled

ii. Internalist story: Substantive critique of Lochner → Justices started to believe the argument that the market is not independent of gov’t action

(a) there is no bright line b/tw market freedom and gov’t regulation b/c there has always been some kind of gov’t regulation of market

(b) Econ regulation of market a political, not Const decision

b. Legal positivism movement → natural law out

c. After 1934 Doctrinal structure of DP looks like doctrinal structure of EP

i. All econ/social regulation is subject to RR

(a) Law must be rationally related to economic interest??

ii. There is category of fund rights (privacy rights) that get heightened scrutiny

iii. Can have DP/EP cases

(a) Williamson v. Lee Optical (1955) (731)

(1) EP challenge b/c law discriminates against opticians in favor of ophthalmologists
(2) DP challenge b/c prevents opticians from earning a living

(3) Upheld under RR
VIII. Fundamental Rights II: Protecting the Poor

A. Welfare Rights I: FREP (Fundamental Rights Equal Protection)
1. Theory

a. Doctrine

i. Classification implicates some fundamental right (but not a right that would be absolutely protected under substantive due process) AND equal protection concern (but isn’t a classification against a protected class

ii. 2 quasi-wrongs make a Const right: Neither on their own a Const violation but put together and that is a violation

b. Skinner v. Oklahoma (1942) (736)

i. Facts: OK has law mandating sexual sterilization of habitual criminals
ii. Douglas opinion

(a) There is a fund right to procreate (sub DP right b/c not enumerated) – fund right based on privacy not economics BUT Ct doesn’t want to say that the right to procreate is a fundamental DP right, so says that in regard to procreation , gov’t can’t treat some criminals worse than others with regards to sterilization → EPC

(b) Buck v. Bell (1927): Says that sterilization okay

(c) So SC not going to overrule that case but says that can’t treat different classes of criminals differently with respect to sterilization b/c is a fund right → so if you were going to sterilize rapist would have to sterilize white collar criminal which isn’t going to happen → b/c of EP part of FREP going to insure that weaker group (poor) not discriminated against

c. Should poor be treated as a suspect class for EP? (FREP is ½ step there)

i. Process theory

(a) Paragraph 2 → poor not literally disenfranchised but they make be effectively disenfranchised (can’t miss work to vote) → but this probably only takes care of poll tax

(1) Wealthy are the reps in the political institution → this may be an access failure and justify Const intervention

· Bork argument: Poor aren’t systematically disadvantaged → they have done quite well for themselves with all the wealth redistribution in our system

(2) Maybe poor do have access →  but they don’t want to dis-appropriate rich

· If median voter has less than average wealth than maybe NOT but the reason why they are not getting their fair share may not be political process failure but may be a reflection of their own policy preferences

· American ideology of social mobility, poor don’t vote for more wealth redistribution b/c think that someday they could be wealthy and then are going to want to keep that wealth → even if this based on false information shouldn’t second guess their political prefs b/c political prefs could be informed they could be doing CBA and think that they would rather support reps b/c of pro-life platform and live with their policy on estate taxes → this isn’t necessarily irrational, it’s a policy choice and the Const doesn’t say that it is wrong/right

(3) If going to say that “poor” don’t have proper access to political structure, have to define poor

· It is not a relative classification → if it is bottom 10% of population then poor are just another minority who doesn’t get their way

· If it is 60% then don’t know if they are not getting what is in their self-interest b/c of access problem or because of their own political prefs

(b) Paragraph 3: Systematically disadvantaged b/c a minority

(1) Problem to say that poor have history of discrimination in same way that women/race
· Boundaries of the class are permeable → same people who are poor at T1 aren’t same people who are poor at T2 (so this would pose prob for remedy)

· Poor might be better off by market economy that grows over time (so if say that have Const mandate to give more welfare, might create smaller pie that screws poor)

(2) Stigma

· Some poor are stigmatized (welfare queens) and some aren’t (students, blue collar workers)

(3) What should poor be getting out of system → Education, $

ii. Wealth-blindness

(a) Hard to imagine b/c not clear that poor are systematically stereotyped and disadvantaged based on that stereotype

(b) Useless concept b/c world would be much worse for poor if gov’t couldn’t take wealth into account (are very few laws that discriminate against poor → Edwards v. California 669)
iii. Gov’t omits to help

(a) Unlike race/sex don’t want gov’t to do away with disparate impact (neg right) but want positive right for gov’t to do more (welfare right)

(b) If gov’t is liable for omitting to help poor → gov’t is liable for everything, there is no logical stopping point 

2. Cases

a. Harper v. Virginia State Board of Elections (1966) (741)

i. Poll taxes disadvantage poor as to wealthy (EP) and fund right to vote (DP) → Const violation

ii. Not a substantive DP right to vote b/c states could stop having elections all together and that would be fine

b. Griffin v. Illinois (1956) (772), Douglas v. California (1963) (773)

i. Both deal with crim appeals process (Griffin have to pay for transcript yourself, Douglas have to pay for own lawyer for appeal)

ii. SC says can’t exclude poor from certain important benefits because they can’t pay market fees

iii. These are neutral laws that have a disparate impact and SC is saying there is Const violation

(a) 2 steps beyond what suspect classes get in EPC

(1) Protects poor from disparate impact;

(2) Protects poor from neutral laws

c. Welfare rights not a good idea from standpoint of Const doctrine b/c is forcing state to give group positive right
B. Welfare Rights II: Road not taken

1. Sunstein and South Africa

a. Shouldn’t give cts power of purse (to decide which welfare rights are the most important)
b. South Africa 

i. SC enforces right to housing that is in Const

ii. Is this a good idea?

(a) Sort of like all deliberate speed of Brown

(b) Leg has a ton of probs to deal with → why does ct get to say that housing is more important than AIDS

2. SC change in direction with regard to FREP

a. Bodie v. Connecticut (1971) (777)

i. Ct invalidates a state requirement that indigents pay ct fees to get a divorce → state has to give them a free divorce

ii. Rationale is what makes it the end of FREP

(a) Monopolization → only context in which poor are entitled to be subsidized is in the context where gov’t has monopoly over providing the good/service

(b) This is playing on act/omission line → Harlan wants you to think that all of the FREP cases have been negative rights cases
b. Berger court then goes and takes back a bunch of fundamental rights

i. Dandridge v. Williams (1970) (792): Welfare rights not fundamental

ii. Lindsey v. Normet (1972) (794): Rejects argument that decent shelter is a fundamental right

iii. United States v. Kras (1973) (779): OK for state to require poor to pay fee to file for bankruptcy b/c bankruptcy not a fundamental right

c. Current status of FREP → Warren ct decisions still good law, matters only in context of jud access/ct fees

i. MLB v. SSJ (1996) (781): Violates EPC to charge fee to appeal termination of parental rights (SC conceptualizes as a negative right)

ii. Rodriguez (1973) (795): Prop taxes okay to fund public schools even if create disparate impact, not saying that edu not a fund right, are saying that you only get EP claim if you are categorically excluded from that fund right, here poor kids are getting an education they just aren’t getting a right to equal education under FREP

iii. Plyer v. Doe (1982) (804): SC says unConst to charge tuition to public schools for illegal aliens → doesn’t fit in with doctrine, theory seems to be greater power to exclude includes lesser power → preemption of state laws that disadvantage aliens by fed laws
IX. Fundamental Rights III: Modern Privacy

A. Privacy and Contraception

1. Pre-Griswald
a. Skinner: Dicta suggests there is some right to procreate that might be fundamental

b. Pierce v. Society of Sisters (1925) (811): Const right under DP to send your kids to private schools, state can’t mandate they go to public schools → idea that DP includes something beyond econ liberty

c. Meyer v. Nebraska (1923) (810): Fund DP right to teach non-English languages
2. Griswald
a. Conn can’t criminalize use of contraceptives by married couples b/c violates their Const right to privacy

i. Are vague about where privacy right comes from, could have used sub DP but after Lochner are squeamish about it

b. Douglas opinion

i. Bunch of bill of rights that talk about privacy → so can extrapolate from a few specific points a general point

(a) 1A protects right of association

(b) 4A protects from unreasonable search and seizures

(c) 3A no quartering

ii. Analogous to takings clause and Lochner → property right so have econ liberty right

iii. Principle of textual interpretation: Make a list of specific things that you turn into general thing (opposite of argument that if there are specific things listed only the specific things were meant)

c. Goldberg concurrence: 9A → enumeration of specific rights not used to deny/disparage other rights

i. Original understanding of 9A: Reminder to gov’t that are a gov’t of limited and enumerated powers

ii. Language suggests that there are other rights retained by the people

iii. Goldberg wants to use 9A as interpretive rule of thumb

(a) Problem with 9A is that it seems to open-ended

(b) Goldberg thinks that way to limit it is to determine what fundamental rights are by looking at the traditions and collective conscience of our people

c. Debate btw Black and Goldberg (Black is dissenting b/c thinks this is Lochner)
i. Black says there is nothing in Const about it → judges can’t do anything about a stupid law
ii. Goldberg is worried about Hitler scenario

iii. Giving cts open-ended power of JR isn’t going to solve problem of leg passing stupid acts, only going to switch problem to judiciary form legislature
d. Other ways to get rid of this law besides “right to privacy”

i. Strike down for being void for vagueness under 1A b/c are basically letting bureaucrats decide who can and cannot get contraception

(a) Concern is discriminatory enforcement of the law

(b) Although nominally applying to all couples, only enforced against a reproductive health clinic that caters mainly to the poor

(1) Even if disparate impact, have a hard time under Feeney b/c is race neutral enforcement → not enforcing in private bedrooms

ii. Gender EP argument

(a) Conn law didn’t prohibit contraceptives to prevent disease, only pregnancy → condoms readily available so men had autonomy to prevent pregnancy but women did not

(b) Feeney problem → gender neutral purpose of preventing disease seems OK

e. Griswald is a big deal b/c it marks the return of the Ct to making up sub rights BUT Douglas draws a very narrow right based on idea that don’t want people busting into bedroom

i. That’s how they tie it to privacy

ii. This decision wasn’t based on law, was politics, SC was bringing outlier juris into line

f. Take home: Griswald is any example of SC stepping over boundary as what is conceived as law and what is conceived as politics and blatantly imposing judicial value judgments

i. There is a line between line and politics 

ii. It is NOT mechanical interpretation → is something beyond that b/c Dworkinian moral judgment moves are OK under Const analysis

iii. Need to ask if such a law can be drawn and maintained?

3. Post-Griswald
a. Eisenstadt v. Baird (1972) (821)
i. unConst for Mass to have statute prohibiting sale of distribution of BC to non-married indiv

ii. Brennan opinion based on EP claim

(a) Says violates rationality review to let married but not unmarried people get it

(b) Is more like FREP b/c to classify based on marriage is not UnConst but to classify based on marriage when involves privacy right is → BUT b/c get rid of marital bedroom, isn’t really a fund right based on privacy, is more a fundamental right based on procreation

b. Carey v. Population Services International (1977) (822): Invalidates NY statutes that says only licensed pharmacist can distribute contraception → restrictions on who can distribute contraception burdens the freedom for reproductive autonomy
c. If you put together Griswald, Eisenstadt, Carey  have a broad right to reproductive autonomy
i. This right has NOTHING to do with privacy

(a) Privacy in law means 2 things

(1) Seclusion: Private spaces that gov’t can’t enter into (marital bedroom)

· 4A Right to be free of search and seizure

(2) Secrets: Some info you can keep from the gov’t

· Right to association

(b) Privacy in this line of cases means the freedom to engage in an activity that should not be subject to public control b/c the individual should be left to their own autonomous choice about whether to engage in this activity → Privacy is about autonomy and LIBERTY

ii. Problems with this line of cases 

(a) idea of autonomy has no built in limitations → leaves it up to the ct to make a value judgment on what personal autonomy gov’t can interfere with and what they can’t

(b) SC never explains why bedroom autonomy is protected and market autonomy is not → notion of privacy has intuitive appeal, but rest of cases erase the boundaries of privacy and are just left with a value judgment that this is a stupid law

iii. Reasons why reproductive autonomy should be protected and not economic autonomy?

(a) Sexuality more fundamental to identity that economic identity

(b) Process argument?

(1) Fear of eugenics?
B. Abortion I: Roe and Casey

1. Roe v. Wade (1973) (823)
a. Blackmun opinion: Doctrinal structure

i. Privacy right is rooted in DP (is substantive DP right) → he concedes it may be in 9th
ii. Once you get this fund right → apply heightened scrutiny, so the infringement on the woman’s liberty right has to be narrowly tailored to compelling state interest

(a) 2 potential compelling state interests 

(1) State interest in protecting health of mother; AND

(2) State interest in protecting potential life of fetus

(b) Balancing test btw

(1) Women’s liberty to terminate; AND

· This interest carries the same weight for the whole preg

(2) State interest (health of mom and life of fetus)

· These interests grow during the pregnancy

iii. Trimester framework

(a) 1st trimester

(1) Neither state interest is compelling yet (less risk to mom to have abortion than go through childbirth at this point)

(2) State can’t regulate abortion at all
(b) 2nd trimester

(1) State interest in protecting health of moth becomes compelling

(2) State can regulate to the extent that regulation reasonably relates to mother’s health

(3) CANNOT regulate to protect potential life of fetus

(c) 3rd trimester

(1) State interest in protecting life of fetus compelling

(2) State can regulate or prohibit abortions except where necessary to protect woman’s life or health

iv. Where does this framework come from?

(a) History of abortion → at common law only a crime after “quickening” 

(b) Is history of abortion important??

(1) Might be important in proving that right is fundamental

(2) Problem is that under original understanding of 14A and American tradition of abortion neither respect the right of abortion → not really helpful here

v. Discussion of whether fetus is a person

(a) FN 53: Fetus not a person under 14A b/c not counted in census

(b) Concludes that can’t conclude b/c medicine/theology/ethicists can’t agree

(c) BUT by drawing line at viability basically concluding that fetus’ life becomes more like human life at that point

(1) Note: Even after viability, mother’s life still more important than fetal life, so not really full fledged person until born

(d) Why does he focus on viability?

(1) Viability = life

· Implicit argument is that at viability there is alternate to abortion that satisfies women’s interest in not having kid and state’s interest in protecting fetus’ life → adoption

(2) Raises the question what is abortion about?

· If abortion about pregnancy → then adoption really is a solution that satisfies everyone

· If abortion is about bringing a new life into the world → adoption doesn’t really solve both problems

b. Alternate justifications for Roe: Gender EP (may be what majority of justices thing should be grounds for protecting abortion)

i. Argument is that abortion singles out women for a special disadvantage that would never be imposed on men

(a) Preg is a natural difference BUT criminalizing abortion is about physiological difference + bad stereotype that women’s natural role is as child incubators

(b) Would be analogous to requiring moms to give organs and not dad’s

(c) Only reason that people view abortion as murder is because of stereotype of women being natural child bearers (people who thing abortion is murder don’t think that not giving your kid a bone marrow transplant  is murder)

ii. Thomson Jarvis argument (833): Abortion an omission not an act → no liability

(a) Assume that fetus is full-fledged life at point of conception, there is no affirmative duty to rescue another life (in tort, crim)

(b) Counterargument: Pregnant woman has assumed a duty toward her fetus by voluntarily engaging in sex that causes pregnancy (except in cases of rape)

(c) Response: Women shouldn’t be responsible under negligence standard

(1) Scope of the duty: Women are responsible for getting pregnant, but that duty might not be enough to create burden of pregnancy

· Parents of drowning kid have duty to save him, but don’t have duty to give a bone marrow transplant

(d) Literal translation of this argument is that crim statute should be sensitive to the degree of woman’s responsibility in becoming pregnant in the first place
(e) Thinking of abortion as murder (overt act) depends a lot of what you think natural role of women is with respect to childbirth → something they have to do or something they can do

c. Take home: 2 basic ways to frame doctrinal argument
i. Substantive DP way (Blackmun) → going to raise issue of when fetus is human being, which isn’t really a question that law should be dealing with

ii. Gender EP: Duty of care and what is scope of duty of care

d. Political and social consequences of Roe
i. Ct in Roe doing same thing it did in Brown → think that see the way country is going to go and pushing them to get there

(a) In Brown ct got in right (country did liberalize)

(b) In Roe → not clear if ct got in right → still as divisive today as it was 30 years ago

(c) What it is clear that it did do was motivate national constituency of pro-life and make the issue more contention

(d) Lesson is that JR is not good at quieting political battles

ii. Did save a lot of woman’s lives by preventing back alley abortions
2. Planned Parenthood v. Casey (1992) (850)
a. Casey plurality opinion: Ct affirms essential holding of Casey that women can terminate preg at any point prior to viability and that women have Const right to have post-viability abortion so long as it is necessary to protect the health of the mother

i. Simplifies trimester framework

(a) State interest in protecting health of mom/ life of fetus allows state to restrict abortion in various ways as long as it doesn’t place an undue burden on a woman’s ultimate right to choose abortion pre-viability

(b) Post-viability, state can criminalize except when health of mom at risk

ii. Institutional concerns: SC feels bound to keep Roe on books

(a) Reliance interest
(1) Society has restructured itself in reliance on the idea that abortion is available → false sense of security, politics have aligned with abortion controversy, Gender EP argument?
(2) Circularity in stating reliance interest  (always circularity in defending stare decisis)

· World 1 → Ct reverses whenever

· World 2 → Ct doesn’t reverse

· Why is world 2 better??? → Const law would lose some of its importance if it became just the political expression of 9 people who happened to be on the SC

(b) Institutional legitimacy of SC
(1) Overruling Roe would weaken cts legitimacy b/c country will perceive ct as making a political decision → legitimacy of JR at stake

· Will no longer be able to present appearance (if not reality) of mech interpretation

(2) Bizarre rhetorical strategy here: SC is making conscious decision to look like non-political decision, not making the decision to actually be legitimate

· If you pursue legitimacy directly doesn’t that undermine your legitimacy

· Scalia argument → this is political decision

b.  Goes to distinction b/tw law and politics

i. Law (judgment) and politics (will) → Hamilton/Marshall
(a)  Under this theory whenever ct is doing anything but mech interpretation (in const law this is most of the time) then is not doing law

(b) We know that we can’t draw the line at mech interpretation b/c in Const law that would get us nowhere

ii.  Principle v. politics: (Dworkin)

(a) Is it better if Const law is based on high level ideological viewpoints (federalism, anti-discrimination EP, gender blindness) and that decisions are made in principled way rather than just merely political preference

(b) What SC is doing is OK b/c is more like civic republicanism → so SC is trumping IG politics

iii. What if you can’t draw a line between law and politics

(a) Maybe it is better in majoritarian system to have some people insulated from political pressure making decisions about important issues b/c in long run we will be better off

(b) Casey sort of says there are 2 audiences here 
(a) Sophisticated lawyer who recognize this is a political decision masquerading as a legal decision AND 
(b) American public who doesn’t recognize that distinction

(c) If we want to maintain the SC we have to play the game and pretend there is a distinction between law and politics otherwise no one would buy into system

C. Abortion II: Funding and Unconstitutional Conditions

1. Abortion Funding
a. DP abortion right: 2 types of cases that challenge the limit of that right

i. Funding cases: To what extent does gov’t have an obligation to pay for abortions for women who can’t afford?

ii. Abortion restrictions: To what extent can gov’t place barriers to get abortions (waiting periods, consent requirements)

b. Funding cases

i. Maher v. Roe (1977) (835)

(a) Medicaid program that pays for childbirth and not abortion

(b) SC says that state doesn’t have to be neutral between childbirth and abortion

(c) Women are no worse off than they would have been had state funded nothing

ii. Harris v. McRae (1980) (838)

(a) Hyde amendment that says no fed $ for abortion

(b) SC says okay b/c gov’t doesn’t have to remove obstacles not of their own creation (poverty)

iii. Webster (1989) (837)

(a) Withdraws public employees, state hospitals from giving abortions

(b) No Fund DP violation b/c no affirmative Const right to give abortions

(c) Note: If we had socialized medicine this case comes out the other way b/c state would be a monopolist
iv. What if gov’t funds nothing?

(a) If women make FREP claim → they are demanding affirmative welfare entitlement

(b) Loses b/c gov’t not harming women, are leaving them as they found them

c. Criticism of this line of cases

i. Gov’t not responsible for private harms

(a) Omission same as act argument → loses every time b/c of Deshaney

(b) Gov’t is responsible for baseline inequality

ii. The cases where gov’t selectively funds (Maher, Harris)

(a) Looks like gov’t is inflicting a penalty

(1) Looks like gov’t is trying to do indirectly what Roe says it can’t do directly → prevent abortions

(2) SC says this isn’t a penalty it is an allocational sanction which state is free to make

(b) Powell’s argument in Maher: Poor women not made worse off from allocational sanction (if have crim statute than made worse off) → hard to answer this argument 
2. Unconstitutional Conditions

a. Unconstitutional conditions problem: conditional offer in which you can no way disadvantage offerree
i. Gov’t conditions a benefit in such a way as to disadvantage the exercise of the Const right

ii. Sometimes gov’t can do and sometimes they can’t → have to figure out when

iii. Only applies when have sub DP right

(a) 

b. How to predict if ct going to say unConst condition

i. Natural baseline from which to measure benefits/subsidies
(a) Harris: Withdrawing all welfare benefits is a penalty, but not giving funding for abortion merely a failure to subsidy

(b) Baseline is basically the expected level of gov’t service → Justices have an intuitive idea of what is a baseline of gov’t services (water, sewage and what is NOT)

(c) Baseline is common law entitlements +

ii. Nexus: When ct is going to merge benefits/burdens and when keep them separate
(a) When  benefit/burden connected by subject matter → unified package → condition OK bc greater power includes lesser power

(b) When benefit/burden disconnected by subject matter → isolated → condition NOT ok b/c greater power not related to lesser power

(1) Could make argument that net benefit provided by gov’t (for everything) is always greater than condition and everything somehow related → but don’t pull on this string
3. Restrictions

a. Pre-1980’s → SC strikes down all sorts of restrictions
b. Maher, Casey

i. Make clear that abortion not a neutrality right

(a) Restrictions = penalties (not OK)

(b) Refusal to fund abortion = failure to subsidize (Ok const)

ii. OK to restrict abortion as long as not creating undue burden

(a) What counts as undue burden?

(1) Only restriction cts don’t allow is strict spousal consent (b/c of concern of domestic abuse)

(2) No health of mother exception

c. Post-Casey

i. OK for gov’t to discourage abortion as long as don’t place too high a barrier btw woman and pre-viability abortion

ii. OK for gov’t to place restrictions on abortion that don’t amt to undue burden

iii. OK to selectively fund abortion as long as doesn’t create unConst condition

D. Sexual Orientation

1. Bowers v. Hardwick (1986) (896)

a. Facts: Georgia statute criminalizing sodomy where Georgia defines sodomy as any sexual act involving sex organs of one person and mouth, anus of another person

i. Maj decision: Upholds statute b/c says sub DP doesn’t cover homosexual sodomy

(a) Says that this statute passes rationality review b/c enforcing morality sentiments is good enough reason to make sodomy criminal

ii. Dissent: The ct should address sodomy statute on its face and it is clearly unConst to criminalize hetero sodomy (privacy?) and there is no way to distinguish hetero and homo enforcement

(a) Even if no sub DP right, enforcing Judeo-Christian values doesn’t count for rational interest

(b) State does not have legitimate interest in protecting 3rd parties from moral harm (as distinguished from tangible harm)

(1) Counterargument: If draw line that sub DP is a general Const ban on gov’t interference with liberty unless the ban is motivated by a tangible/material harm to some 3rd party then can always make argument there is 3rd party tangible harm (is a matter of semantics)

· 3rd party tangible harm for sodomy would be degradation of morality OR public health measure to controls spread of AIDS

· Pornography, recreational drug use inside of home, criminalize suicide, gambling, prostitution, smoking, etc.

(2) Take-home

· If get rid of moral offenses then at least a bunch of other laws are going to go (a bunch that the ct doesn’t want to get rid of → prostitution, porno, drug laws)

· Always possible to re-characterize a moral offense into 3rd party tangible harm

· If this was line would be totally inconsistent with school deseg cases which recognize stigmatic harms

· There is no Const answer to the moral quandary of whether o not gov’t can regulate moral harms
b. Argument why DP should protect

i. Griswald, Eisenstadt, Roe line of cases about more than just protecting reproductive autonomy so should define the privacy as protecting sexual autonomy

ii. Should define sub DP by balancing liberty interest of indiv against state interest → state interest in Bowers (3rd party morality) has much less weight than state interest in Roe (life of fetus)

c. Why majority says DP doesn’t protect sodomy: Sub DP only protects rights that are rooted in history and tradition
i. Sub DP is about protecting liberties that people have always had and that does NOT include homosexual sodomy but does include family relationships and reproductive choice

ii. Counterargument: Whether or not a right is traditional depends on the level of abstraction that you consider the right as

(a) At specific level, birth control (Eisenstadt) and abortion (Roe) not firmly grounded in tradition, but if re-describe as traditional right of women to choose to bring a family into existence

(b) Next question is why do you get to define abortion and birth control at high level of abstraction and homosexual sodomy at a specific level? → value judgment b/c can always find support for tradition if define the right abstractly enough

(1) Assisted suicide

· Tradition to let people commit suicide

· Tradition to let people make intimate choices related to their body

(2) Race discrim

· Traditional that all men created equal (not really but pretend)

· Tradition of Jim Crow

(c) Big debate in 80’s and 90’s was what level of abstraction are you supposed to define the relevant tradition

(1) Scalia → specific

(2) Liberals → general

(3) Michael H. v. Gerald D. (890) (1989): Law at issue presumed that a child born to a woman in marriage is husband’s child, the biological father challenged the law and demanded visitation rights

· Maj (Scalia) says relevant tradition is not inviting adulterers into house

· Dissent: Relevant traditions are parenthood

(d) Take home: If require specific tradition in order to get a sub DP right than the ct is never going to do things like Roe b/c any controversial right by definition is not going to be traditionally recognized → status quo, Const not a living document

d. EP

i. Ct doesn’t reach EP question whether Const for Georgia to enforce this statute only against homosexuals

ii. Post-Bowers leading litigation strategy was EP
(a) White/Burger in Bowers 

(1) DP is about tradition→ backwards looking
(2) EP has generally been about progressive social change → forward looking

(b) The strategy here was to argue that gays/lesbians are a suspect class but OK to keep Bowers on the books

(1) Need to make a distinction btw act (sodomy) and status (homosexual) → sexual orientation is not the same category of people who engage in sodomy
· Classification overinclusive b/c some people with same sex orientation won’t act on their desire in a way specifically prohibited by the Georgia statute

· Classification underinclusive b/c some people who engage in sodomy aren’t socially coed as homosexuals

· State can’t use status as a proxy for criminal conduct (just like state can’t use race a proxy to make special restrictions on blacks to stop crimes blacks have a propensity to commit)

(2) This didn’t work b/c requires one to make value judgment that the trait that defines the class should generally be irrelevant to gov’t decision making → it is hard to argue that sexual orientation should be irrelevant if OK for gov’t to express moral disapproval of homosexuals by criminalizing the act that defines their class

· Gays are suspect class for EP

· Sodomy is a crime under DP

iii. Should gays be a suspect class?

(a) Are they similar to the paradigmatic class (blacks)

(b) History of discrimination

(1) Can’t just be history of discrimination has to be history of unjust discrimination (value judgment)

(c) Process theory

(1) Access problem → NO b/c no restrictions of homosexual voting

(2) Prejudice prong → have to have baseline of when a minority is losing more than they should be

(3) Discrete/insularity: Gays have exit option which will diminish their political voice (they disguise their identity rather than suffer discrimination) so they have a structural reason why they don’t get their fair share
2. Romer v. Evans  (1996) (638)

a. Facts: Colo amendment to state Const that repeals all municipal gay anti-discrimination laws and prohibits future enactment of any other anti-discrimination measures to protect homosexuals 
b. Majority opinion (6-3)

i. Ct says it is applying rationality review → but it is not ordinary RR (2 interpretations)

(a) Ct really believes that gays are suspect class but doesn’t want to say it

(b) Something special about this law which makes it different from other forms of discrimination → it defies legitimate gov’t interest

ii. Doesn’t mention Bowers at all

(a) State has legit interest in criminalizing same-sex sodomy BUT leg doesn’t have sufficiently legitimate interest in getting rid of anti-discrimination measures that protect homosexuals

(1) Would think that criminalizing sodomy requires stronger interest than getting rid of anti-discrim laws

(2) Colo argument: State interest in protecting people who morally disapprove of  gays of having to interact with them

(b) Kennedy quotes Moreno → the only explanation for this law is animus and bare animus doesn’t count as legit interest even if moral disapproval does

c. Scalia dissent

i. Can’t draw a distinction between legitimate moral disapproval and animus

d. Policy v. prejudice

i. Scalia thinks that amendment prohibits special treatment of gays (so puts them in same position as they were before) → abortion funding

(a) No Const obligation to have any anti-discrimination laws SO can’t be disadvantaged by withdrawing some
ii. Maj: Gays and lesbians are being singled out among groups that need special protection and being told they alone are not going to get it

(a) Baseline should be protecting any group against discrim that needs it → gays are suspect class

(b) Not nec that gays need but this particular amendment creates a disadvantage in the political process b/c have to go to a higher level of political process to get same benefits that other groups can get at lower level → could read maj opinion as affirmative Const requirement to protect suspect class from private discrimination as long as have regime protecting other suspect class
iii. Analogy to abortion funding cases

(a) Withdrawal of benefit → no Const harm

(b) Penalty imposed specially on gays → Const harm
iv. Logic of opinion

(a) Gays suspect class

(b) Gays deserve Const protection against discrimination, that protection is the baseline, so if gov’t takes it away it is a penalty rather than withdrawal of a discretionary benefit

e. What does Romer mean?

i. Either get consequences that ct cannot mean → gays have affirmative Const entitlement to discrim protection OR every time that state passes Const amendment that imposes a special disadvantage on a group against amendment that is process violation →?

ii. Basically is ct rethinking its value judgment that moral disapproval of gays is animus not legitimate
3. Lawrence v. Texas (2003) (Supp 109)

a. Facts are the same as Bowers but ct comes out the other way

b. Kennedy opinion

i. Tries to distinguish Bowers: Broader issue of gays to pursue intimate relationships without state interference → sub DP right to privacy includes sexual autonomy

ii. Takes back idea of tradition as a restriction on sub DP

(a) Bowers analysis wrong → laws targeting same-sex sodomy are recent invention

(b) Scalia counterargument: Trend towards liberalization of criminalization of gay conduct doesn’t mean there is a weakening of traditional disapproval of homosexuals in general

iii. Liberty interest in maintaining sexual and other intimate relationships → says this but basically says value judgments about homosexuals have changed and Const should recognize that

(a) Consistent movement to get rid of criminalizing sodomy

(b) Ct thinks that country getting rid of moral disapproval of gays so nudge in that direction → Brown, Roe

(1) In doing this ask if this decision hurts/helps the cause → backlash to implications it has on gay marriage going to make more states pas Const amendments banning gay marriage

iv. Stare decisis/reliance interest

(a) Kennedy makes big deal of this in Casey and then ignores it basically here → inconsistent, demonstrates Casey and Lawrence are just political judgments masquerading as law

c. What is this right going to grow into?

i. Creates some sort of sub DP right (so at least heightened scrutiny) but at same time says that moral disapproval is this context is not a legitimate state interest

ii. At some point if court is going to uphold bans on gay marriage, polygamy, prostitution, pornography going to have to distinguish this opinion

(a) Scalia → no way they can do that

(b) Kennedy

(1) Child pornography → state has legit interest in protecting minors

(2) Incest, polygamy → consent issue

(3) Pornography is public conduct

(4) Prostitution → no explanation

(5) Gay marriage/gays in military

· State action: Marriage license is a benefit so one thing for state not to penalize gays by not criminalizing sodomy but another thing to require state to confer a benefit → this is why majority goes with DP over EP → if this right is in EP than this argument doesn’t get you anywhere and no principled way to distinguish gay marriage

· State has legitimate interest in maintaining institution of marriage

d. EP (O’Connor opinion)
i. Violates Loving b/c makes facial gender classification

ii. Natural difference → nature commands opposite sex attraction

e. Short-term result of Lawrence

i. More states going to enact Const amendments banning gay marriage

f. Long-term results

i. Const right to gay marriage and right to serve openly in the military → but it might take longer to get their b/c of this opinion

ii. Larger point about Const law: Political/social change is what causes Const change (not the other way around) 
E. Death
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